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Chapter 1  

Understanding Management Accounting 
 

This chapter will cover the following areas. 
 

1. What is Management Accounting 

2. Financial and Management Accounting 

3. Management Accounting and Cost Accounting 
 

 

1. What is Management Accounting? 
 

The process of identifying, measuring and communicating economic information to 

permit informed judgement sand decisions by users of the information. In other words 

management accounting is concerned with providing information which will help 

decision makers to make good decisions. 
 

1.1 Detailed Analysis of Costs and Revenues 

Management accounting primarily analyses the elements in a profit and loss account 

statement in detail. For example if we take the overheads figure in the profit and loss 

account, management accounting would use techniques used by cost accounting such as 

ABC costing principles, to see what are the components of the total overheads figure.  

Then how does each overhead component vary with various activities, how have they 

been absorbed into products and are the bases used for overhead absorption realistic are 

judged for their compliance with the strategic plans of the company. 

1.2 Provision of Data for Internal Use 

Managers need data for various decisions they make on behalf of the business and in 

order to evaluate most importantly the financial viability and to identify various other 

restrictions to be taken into consideration management accounting provides various tools. 

For example the limiting factor analysis will enable a production manager to decide if 

resources are limited the most profitable product mix to be produced if the company is to 

maximise its contribution.  

Another instance is the preparations of budgets where the management is able to forecast 

their future output levels, purchases to be made or cash position so that they can prepare 

themselves and take precautions before the situation arise. If it is foreseen if there is a 

cash shortage in a particular month now itself the company can decide to take an 

overdraft for that month, postpone purchases of fixed assets or delay payment to creditors 

or to implement any other suitable strategy . 
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1.3 Emphasis on Future, Non- Monetary Data and Segments of an Organisation 

Management Accounts are forward looking by nature as they are mostly used as a tool for 

planning decisions within an organisation thus its use of techniques such as budgeting. 

Accounts by nature is monetary but management accounts give prominence not only to 

figures, but also for various other non monetary aspects, such as the skills of labour force, 

quality of materials used, economic use of limited resources etc through adoption of 

modern techniques such as Just In Time system. The detailed operation of each segment 

of an organisation is usually studied by management accounts because most of the time 

performance measures are set based on the operations of a department. 

 

1.4 Consideration of Relevant and Flexibility of Data 

Decisions taken should ideally involve only the costs and revenues related to that decision 

if it is to be properly distinguished from the outcome of other alternative decisions. 

Management Accounting uses techniques that always tend to consider all the relevant 

costs for the decisions especially when using marginal costing principles to accept or 

reject projects.   

Management Accounting uses sensitivity analysis to see the impact on different decisions 

on the company's resources or contribution. Hence the proper classification of costs into 

controllable and uncontrollable, short run and long run etc. is essential to know which 

costs and revenues are flexible and which are not.  Techniques such as flexible budgeting 

where the situations at different activity levels are measured also require management 

accounting data to be flexible.  

 

1.5 No Governing Body  

There is no statutory requirement for a company to prepare Management accounts, and 

there is no specific format to be followed. As a result management accounts can be 

prepared in a form which will be useful for decision makers. Therefore management 

accounts between similar companies cannot be compared, as there would not be much 

similarity amongst two companies’ management accounts.  

 

2. Financial and Management Accounting 

2.1 Comparison of Financial and Management Accounting 

Accounting is often divided into two types: financial accounting and management 

accounting. These two different types of accounting can be compared as follows: 
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a) Financial Accounting 

• Historical 

o Records past financial transactions;  

o covers the previous year’s trading;  

o Looks backwards to analyse performance.  

• b) Users of Information.  

o Financial statements, prepared mainly for shareholders, suppliers, Finance 

providers, Tax authorities and other relevant stakeholders.  

• c) Statutory Requirements 

o The Companies Act specifies certain accounting information which should be 

disclosed.  

o The Inland Revenue Act requirements. 

o Sri Lanka Accounting and Auditing Standards Monitoring Board requirements. 

o Any other relevant statute for specific business enterprises. Ex. Banks, Finance 

Companies, Stock brokers etc. 
 

• A ‘True and Fair’ View 

o In accordance with Sri Lanka Accounting Standards financial accounting is 

required to present a ‘true and fair’ view of the financial affairs of the business.  

• Timing 

o Generally prepared annually.  Note: In Finance companies and Banks the financial 

statements should be published quarterly. Further if it is specified in a relevant 

statute or any relevant agreement  under which a company has to comply with  

then again the financial statements has to be submitted on or before the specified 

due date. Non compliance with the timing sometimes leads to penalty charges and 

cancellation of agreements or licences etc.  

b) Management Accounting 

• Current information and projections. 
 

o Mainly prepared using current data and provides information for day to day decision 

making, budgeting, new investments etc.  

 

Financial accounting is involved with financial transactions that have already 

happened and with the preparation and interpretation of financial statements for the 

benefit of managers, the owners and the external stakeholders of an organisation. 

Whereas Management accounting is concerned with the provision of information to 

people within the organisation to help them make better decisions. 
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• Users of Information 
 

Available only to managers, directors, and owners. However management accounts 

may sometimes be made available to finance providers such as banks.  
 

• Statutory Requirements 
 

Management accounts are not governed under any statute and no proper format 

required. The content of reports and the principles used can be suited to the activities 

of the business and the requirements of its managers.  
 

• Influences in Changing Managerial Decisions. 
 

The main requirement of management accounting is to produce information that will 

enable the business to conduct its activities more effectively and efficiently. A 

decision made for the future can be changed based on management report data. 

 

• Timing 
 

Management accounting information is prepared as frequently as circumstances 

demand; speed is often vital as information may go out-of-date very quick. The 

foundation to Management and Financial accounting is laid in the cost accounting 

system.  Both systems are useful in decision making. 

 

Please see the summary of financial and management accounting in the next page.  

 

2.2 Role of Financial and Management Accountants 

Financial accountant mainly concerned with external reporting. Management 

accountant mainly concerned with internal reporting. However, in medium-sized 

businesses, the two roles are often combined and the work undertaken by one accountant.   

a) Financial Accountant  

 

The function of the financial accountant is very much concerned with financial 

transactions. The financial accountant extracts information from the accounting records in 

order to provide a method of control, for instance over customers who buy on credit, 

suppliers and other outstanding bills, and cash and bank balances. The role of a financial 

accountant also requires the preparation of year-end financial statements, and requires 

negotiation skills with the Inland Revenue on tax matters for the business. Compliance 

with the Accounting Standards, Companies Act, and with other relevant statutory and 

other requirements must be ensured.  
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Summary of Financial and Management Accounting 

 
 

b) Management Accountant  

The role of management accountant can be summarised under following categories. 

Planning: In the planning process he helps to formulate future plans by assisting in 

deciding what products to sell, at what price, in what market segments and in evaluating 

capital expenditure decisions. He establishes budget procedures and coordinates the short 

term plans from all sections of the business. Management accountant has to prepare the 

master budget by amalgamating various sub plans and present it for top management 

approval.  

Controlling: Management accountant will assist in the control process by comparing the 

actual performance with the planned performance and thereby providing performance 

reports in each responsibility centre. He controls the process by drawing the respective 

manager’s attention to the variances identified. In other words he identifies the problem 

and suggests the relevant actions to be taken promptly. He will report to the top 

management on specific areas where the plans have not been achieved. 
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Organizing: He ensures that the company has a proper organisation structure and a proper 

internal reporting system. 

Communication: Management accountant helps the communication function of a 

company by maintaining an effective communication and reporting system. For example 

the budget communicates the plan to each departmental manager who is responsible, so 

that they are clearly aware of what is expected of them during the budget period. 

Motivation: Budgets and performance reports produced by the management accountant 

have an important influence on the motivation of the personnel in the organisation. 

Performance reports are intended to motivate desirable individual performances by 

communicating to employees in relation to targets set. Usually these targets to be 

achieved are linked to the bonus system. 

3. Management Accounting and Cost Accounting 

Management Accounting is the process of identification, measurement, accumulation, 

analysis, preparation, interpretation and communication of information used by 

management to plan evaluate and control within an entity and to assure appropriate use of 

resources. 

Cost Accounting on the other hand is the establishment of budgets, standard costs and 

actual costs of operations, processes, activities or products, analysis of variances, 

profitability or the social use of funds. 

In an organisation which produces a wide range of products or jobs, it is necessary for 

stock valuation purposes to charge the cost to each individual product or job which will 

provide information for financial accounting reports. Cost accounting was developed to 

provide this useful information. 

During the 1950’s emphasis shifted from external users to internal users of cost 

accounting data; which resulted the cost data being used by the management in a different 

way from that which was used for financial accounting. This shift in emphasis led to the 

emergence of management accounting. 

There are similarities between the objectives of both management and cost accounting 

and in practice thee is no true dividing line. In general management accounting is wider in 

scope and uses more advanced techniques such as discounting factors, network analysis, 

sensitivity analysis etc.  However a fundamental requirement for management accounting 

is the existence of a sound costing system to provide basic data. 

Both management accounting and cost accounting are mainly concerned with the 

provision of information for internal planning, control and decision making purposes with 

considerable emphasis on the costs of functions, activities, processes and products. 
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3.1 Benefits of Cost Accounting 

• Application of accounting principles and costing principles to day to day operations of 

a business. 

• Analysis of savings and excesses as compared with previous experience or with 

standards. 

• Provision of useful information to take decisions such as identification of profitable 

and unprofitable products, valuation of stocks, budgeting and variance analysis for 

planning and control etc. 

 

┼ Activity  
 

Discuss what other information a cost accounting system will provide in a company 

which is engaged in marketing and distribution of milk powder 
 

 

Case Article – Management Accounting  

 

Management accounting is concerned with the provision and use of accounting 

information to managers within organizations, to assist management making decisions 

and managerial control functions. Unlike financial accountancy information (which, for 

the most part, is public information), management accounting information is used within 

an organization and is usually confidential. Contemporary managerial accounting 

systems are focusing more on the activities that occur at all levels of the organization. 

 

In the late 1980s, accounting practitioners and educators were heavily criticized on the 

grounds that management accounting practices (and, even more so, the curriculum 

taught to accounting students) had changed little over the preceding 60 years, despite 

radical changes in the business environment. Professional accounting institutes, perhaps 

fearing that management accountants would increasingly be seen as superfluous in 

business organizations, subsequently devoted considerable resources to the development 

of a more innovative skills set for management accountants. 

 

The distinction between ‘traditional’ and ‘innovative’ management accounting practices 

can be illustrated by reference to cost control techniques. Traditionally, management 

accountants’ principal technique was variance analysis, which is a systematic approach 

to the comparison of the actual and budgeted costs of the raw materials and labor used 

during a production period. While some form of variance analysis is still used by most 

manufacturing firms, it nowadays tends to be used in conjunction with innovative 

techniques such as life cycle cost analysis and activity-based costing, which are designed 

with specific aspects of the modern business environment in mind. Lifecycle costing 
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recognizes that managers’ ability to influence the cost of manufacturing a product is at 

its greatest when the product is still at the design stage of its product lifecycle (i.e., 

before the design has been finalised and production commenced), since small changes to 

the product design may lead to significant savings in the cost of manufacturing the 

product. Activity-based costing (ABC) recognizes that, in modern factories, most 

manufacturing costs are determined by the amount of ‘activities’ (e.g., the number of 

production runs per month, and the amount of production equipment idle time) and that 

the key to effective cost control is therefore optimizing the efficiency of these activities. 

Activity-based accounting is also known as Cause and Effect accounting. Both lifecycle 

costing and activity-based costing recognize that, in the typical modern factory, the 

avoidance of disruptive events (such as machine breakdowns and quality control 

failures) is of far greater importance than (for example) reducing the costs of raw 

materials. Activity-based costing also deemphasizes direct labor as a cost driver and 

concentrates instead on activities that drive costs, such as the provision of a service or 

the production of a product component. 

 

An alternative view of management accounting is that it is not a neutral or benign 

influence in organizations, but is instead a mechanism for management control through 

surveillance. This view locates management accounting specifically in the context of 

management control theory. 
 

 

Article Review - Interface between Strategic Management Accounting & 

Marketing by Meena Bhatia 
 

Change has become a ubiquitous phenomenon. Indeed, the intensity and speed of 

changes in the market place is rendering everybody amazed. Though organizations, their 

competencies and product portfolios are expanding and going global, their profit 

margins are shrinking, competition is intensifying and life is becoming more and more 

complex and tougher day by day. Markets have become merciless without any respect 

for the long-standing and accumulated expertise. Amidst this, market participants are 

effectively left with two choices – either change or perish. Apparently, nothing but 

change is stable in the world, which interestingly offers both - opportunities and 

challenges. Changes in environment have resulted in various new techniques/approaches 

to existing techniques. One of these new techniques, named strategic management 

accounting has shown close links between management accounting and the functional 

strategies of marketing. 
 

Traditional management accounting - Management accounting is basically an 

information system. The provision of information required by management in the 

formulation of policies, planning and controlling the activities of their corporation, and 

selecting the appropriate course of action from the available opportunities. Traditional 

management accounting had various limitations that are overcome by SMA. Traditional 

management accounting works only under stable environment in national boundaries 
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and emphasizes on tangibles & quantity. It focuses more on financial accounting. 

Moreover it has a short-term perspective. 
 

Strategic management accounting - Today’s business environment has become far 

more challenging and demanding for organisations because of global competition, rapid 

innovation & increasingly demanding customers. Accordingly companies now demand 

better management accounting information, e.g. quality of products, customer 

satisfaction, and customer retention. Management accounting, which is relatively a new 

concept, takes account of this. K Simmonds pioneered the term Strategic Management 

Accounting. SMA as defined by K Simmonds “is the provision and analysis of 

management accounting data about a business and its competitors, which are of use in 

the development, and monitoring of the strategy of that business”. As one can interpret 

from the definition, SMA is Management Accounting that is focused externally, on the 

final goods market, and is concerned with products, customers and competitors. 

Management accounting has been traditionally used to deal with past data and existing 

activities. SMA being concerned with Products, customers and competitors/markets 

shows close links with marketing. Bromwich and Bhimani offer the following definition 

of SMA “the provision and analysis of financial information on the firm’s product 

markets and competitor’s costs and cost structure and the monitoring of the enterprise’s 

strategies and those of its competitors in these markets over a number of periods.” 
 

As we can see in exhibit 1, management accounting & marketing management go hand 

in hand. In a modern competitive environment, a critical area of business strategy is 

marketing. Strategic decisions are basically long term in nature, complex, match 

activities with environment and capacity, and have a significant effect on the 

organization. Strategic Management Accounting emphasizes on information about 

competitors, strategic positioning and on gaining competitive advantage. This means that 

the required information system cannot be internally focused, in either content or 

emphasis. 

 

The customers determine what is important in any industry, as a statement says ‘YOUR 

CUSTOMER’S PERCEPTION IS YOUR REALITY’. Porter explicates three ways in 

which firms can attain a competitive advantage: low cost, differentiation or a focus 

strategy. Competitive advantage cannot be assessed without carefully assessing the 

attributes of the potential intangible asset from the perspective of the customer. It must 

also be assessed in the context of the alternative goods and services offered by existing 

and potential competitors. Clear customer focus and orientation and an appropriate level 

of competitor financial analysis are essential elements of a good strategic management 

accounting system. Customer is centre to any business strategy. Bromwich has 

attempted to develop Strategic Management Accounting to consider the benefits that 

products offer to customers, how these contribute to sustainable competitive advantage. 

Bromwich sought to compare the relative cost of product attributes or characteristics 

with what the customer is willing to pay for them. 
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Exhibit 1 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

Financial returns from sustainable competitive advantage is the main focus of strategic 

management accounting, as it represents the financial justification for all the efforts and 

investment in the strategic management of the organization. 

 

Techniques of strategic management accounting - For strategic management 

accounting to be successful, it is mandatory that management accountants and marketing 

managers must work together in the pursuit of the same business objectives. Strategic 

management accounting includes various techniques and approaches, which clearly 

shows the interface between management accounting & marketing. Among these are 

• Product Attribute Costing 

• Target Costing 

• Life Cycle Costing 

• Competitor Analysis 

• Customer Profitability Analysis 

• �Balanced Scorecard 

 

Product Attribute Costing - It is the characteristics of the product for which customers 

actually pay. Management accountants can play an important role here in costing the 

characteristics provided and in monitoring and reporting on these costs regularly. 

Product attributes enable management accounting to show up the link between the mix 

of attributes offered and the mix of resources to be employed. Management accountants 

also need to be involved in determining the cost of any package of attributes at a 

competitive level. Product attribute costing is a customer-oriented technique and uses 

cost information, it shows clear interface between marketing & management accounting. 

 

Target costing – It involves determining the price which customers will be prepared to 

pay and then deducting target profit margin from the target price. Result will be the 

target cost which will be compared with the actual cost. Management needs to 

 

 

Management 

Accounting 

 

Marketing 

Products 

Competitors/ 

Markets Customers 
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investigate ways of driving down the actual cost to the target cost. This reinforces the 

interface between marketing & management accounting.  
 

Lifecycle costing - Organization makes profit only during the sales phase, but it incurs 

cost at product planning & design phase, manufacturing and sales phase and post sales 

service phase. Life cycle costing traces costs and revenues on a product-by-product basis 

over several calendar periods throughout its lifecycle. This helps management to 

understand the cost consequences of developing and making a product & to identify 

areas in which cost reduction efforts are likely to be most effective. It gives important 

information on product pricing too. In Lifecycle costing, cost is estimated & 

accumulated over a product’s entire lifecycle wherein marketing department has got a 

major role to play. Marketing manager can tell at which phase the product is and with 

inputs from management accountant costing of all the phases can be carried out. 
 

Competitive information - We all know how important is the information regarding the 

competitor for any organization. Competitive information is available through public 

sources, such as annual reports, press, official institutions, and statistics as well as 

informal sources, e.g. sales personnel, customers, other competitors and suppliers, 

industry specialists, consultants, trade centers, competitors' old employees etc. 

Marketing effort goes waste if this information is not analyzed & interpreted well. This 

calls for inputs from management accountant & marketing people. 
 

Customer profitability analysis – It is yet another technique which shows a clear 

interface between marketing & management accounting. It involves the application of an 

activity-based costing approach (management accounting technique) to customers to 

identify customer-wise cost & profitability. Activity based costing is useful in segmental 

profitability analyses as well.  
 

Balanced scorecard - It is strategic management technique for communicating and 

evaluating the achievement of the mission and strategy of the organization. Performance 

is measured on the basis of four perspectives i.e. customer perspective, the financial 

perspective, the internal processes perspective and the learning and growth perspective. 

Customer being one of the perspectives, it surely requires inputs from marketing 

management. Financial perspective basically talks about profit or income as a measure 

for measuring financial objective of a business unit. To achieve the financial objective it 

is mandatory to give importance to customer perspective.  

 

Management accountants’ role is becoming more integrated, interdisciplinary and 

outward in focus. Focus is not only financial but also non-financial information. 

Simmonds, who coined the term strategic management accounting, proposed it as a 

natural response to competitive environment. Simmonds’ view of SMA is that it helps 

firms attain competitive advantage by measuring and monitoring competitor’s relative 

levels and trends in costs, prices, market share, cash flow and financial structure. 
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♪  My Short Notes  
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Chapter 2  

Determination of Costs 
 

This chapter will cover the following areas. 
 

1. Cost Concepts 

2. Determination of Costs 
 

 

1. Cost Concepts 

The first step in controlling costs in any business is achieving a good understanding of the 

types of costs incurred.  At the most basic level, a cost may be defined as the sacrifice 

made, usually measured by the resources given up, to achieve a particular purpose. Cost 

can have a different meaning depending on the context in which it is used. Cost data 

classified and recorded a particular way for one purpose may be inappropriate for another 

use. An important step in understanding the cost behaviour in any organization is 

effectively identifying the cost drivers that determine the organization’s costs. A cost 

driver is an activity or event causing costs. Cost drivers vary widely among different 

firms and industries.  

Example: A hospital responded to cost-reduction pressures by inducing physicians to 

reduce patient length-of-stay (LOS). The program resulted in a decline in average LOS; 

however, the program did not result in a decline in patient costs. A subsequent cost-driver 

analysis indicated that the number of medical procedures is a more appropriate cost driver 

than patient LOS. Cost units – a cost unit is anything which is possible to ascertain the 

cost. The cost unit selected in each situation will depend on number of factors, including 

the purpose for which it is ascertained. 

E.g.: Industry sector                                   Cost unit 

 Professional services                         Chargeable hour 

 Education                                          Enrolled student 

 Electricity                                          Kilowatt- hour 

 Brick manufacturing                          1000 bricks (i.e. Batch wise ) 

1.1 Product Costs and Period Costs 

Product costs : Costs assigned to goods purchased or manufactured for resale is a 

product cost, i.e. costs which can be directly related to the product (or service) provided 

by the firm 
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Period Costs: Are those costs which are not included in the stock valuation and as a 

result are treated as expenses in the period in which they are incurred. 
 

Example 1 : in a manufacturing organisation the product cost includes three elements. i.e. 

direct material, direct labour and manufacturing overhead. Non – manufacturing costs are 

regarded as period costs. 
 

Example 2 : In a buying and selling organisation cost of goods purchased is regarded as 

product cost and all other costs such as administration, selling and distribution expenses 

are considered as period costs. 

 

Both, product and period costs are ultimately classified as expenses. The difference is in 

the point in which they are so classified. 

Period costs not assigned to specific goods: All costs that are not product costs are period 

costs, i.e. costs associated with the passage of time; not readily traceable to the product 

(service). These costs are identified and recognized in the period when incurred rather 

than with units of production. All research and development, selling and administrative 

costs are treated as period costs.  

 

┼ Activity  
 

What would typically be some period costs and product costs of our national airline Sri 

Lankan Airlines. 
 

 

1.2 Common Cost/Joint Cost  

 

Joint costs (or joint-process costs) are costs that arise from the common set of inputs. 

These are the costs that must be allocated among the joint products. Joint products arise 

due to the inherent nature of production in process; it follows that none of the products 

can be produced separately. The various products in the process becomes identifiable at a 

point known as the “split – off point” .Up to this point all costs are joint costs. Any cost 

incurred subsequent to the split – off point, can be identified with specific products and 

they are known as subsequent or additional processing costs. 

 

┼ Activity  
 

In the oil refinery process what would be considered as common /joint costs  

 

 

1.3 Short Run and Long Run Cost  

Short run costs are actually revenue expenditure which includes day to day or rather 

frequent cost items which are written off in the profit and loss in the period which they 

were incurred. Long run costs are actually capital expenditure and are written off over 

long periods of time and they are usually one off costs. 
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┼ Activity  
 

What would be the likely short run and long run costs of a video rental shop  

 

 

1.4   Past and Future cost  

Past cost: These are costs which have been already incurred by a company. 

Future cost: These are costs which need to be incurred in the future. This will be 

explained in detail under relevant costs. 

The analysis of past cost behaviour may be of help in predicting future cost behaviour, 

but care should be taken with any extrapolation in to the future. 

 

┼ Activity  
 

What are the typical Past and Future Costs of a hotel that was affected by Tsunami in 

Sri Lanka? 
 

 

1.5 Replacement and Historical Cost 

Replacement cost: The amount it would cost to replace an asset at current prices.  

Historical cost: this is the book value at which an asset, liability or any other financial 

transaction is recorded initially in the books of accounts. 

 

┼ Activity  
 

A building was bought by X L TD at an initial cost of Rs.500,000. The market going 

rate for this type of building is around Rs.700,000 but before the building is sold it will 

have to be painted at a cost of Rs.75,000. What is the respective historical cost and the 

replacement cost of the building. 
 

 

1.6 Escapable and Unavoidable Cost 

Escapable Costs are costs that can be avoided in the short run whilst unavoidable costs 

are committed costs that cannot be avoided in the long run usually. Advertising 

expenditure can be classified as escapable costs which are within a company’s control. 

An example for an unavoidable cost would be the rent cost where a company would have 

already entered into a contract. 
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1.7 Controllable and Uncontrollable Costs 

The identification of the ability or inability of a particular manager to control a cost driver 

is important in cost control. A cost that a specific manager can substantially influence is a 

controllable cost.  

 

Example: Travel costs constitute one of the largest manageable corporate expenses. 

Companies try to control travel costs by periodic evaluation of travel policies and 

negotiating deals with vendors or by implementing new technology such as video 

conferencing. 
 

Costs that a specific manager cannot influence are uncontrollable costs.  

Short-term and long-term difference: Some costs are controllable in the long run but 

not in the short run.  

 

Example: A building with a ten-year lease is not controllable in the short term (once the 

lease is signed). The payments must be made until the lease expires. These costs are 

controllable at the time the lease is negotiated. Thus in the long-run, these costs are 

controllable.  
 

1.8 Sunk Cost 

These costs are the cost of resources already acquired where the total cost will be un 

affected by the choice between various alternatives. This term is used to describe costs 

which are not relevant for decision making because either they are not future cash flows 

or they are costs which will be incurred anyway regardless of the decision that is taken. 

Example : Development cost already incurred – suppose that Company ‘X’ a mobile 

phone company has already spent Rs. 550,000/- in developing a new service for 

customers. According to a recent survey, Company’s marketing department has found 

that the service will not gain customer acceptance and could be a commercial failure. 

1.9 Relevant and Irrelevant Costs 

Relevant cost:  A relevant cost is a future cash flow arising as a result of the decision 

under review. These are future cost, cash flows, incremental cost and opportunity costs. 

Example  : A ltd. A marketing services company has received an assignment to distribute 

leaflets to students in various schools. They are faced with the choice of making the 

journey by petrol car or by diesel van which are owned by the company.  

The vehicle taxes and the insurance costs of the vehicles are not relevant as they will 

remain the same whatever the decision made. However the fuel cost will differ depending 

on the vehicle chosen which is a relevant cost. 
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Irrelevant cost: are costs which will not be affected by the decision. E.g. Sunk cost, 

committed cost, depreciation 

 

┼ Activity  
 

A company wants to accept a special project to manufacture 500 units of product 'DI' 

and it is trying to estimate the manufacturing cost of 'DI'. The materials required for 

'DI' (i.e. 100 kg of material X) are already in stock if not used for this project it will 

have to be sold as scrap at Rs.10/kg. The product 'DI' needs both skilled and unskilled 

labour. Skilled Labour is short in supply and therefore they will have to be transferred 

from another project, which earns a contribution of Rs.25 per skilled labour hour. 

Unskilled Labour is paid a flat rate of Rs.100/day and currently there are 600 hours of 

idle unskilled labour hours. Each 'DI' requires one hour of unskilled labour and half an 

hour of skilled labour. Variable overheads are Rs.5/unit and fixed overheads are 

estimated to be Rs.10,000 for the period. 

 

Calculate the relevant cost of product 'DI'. 
 

 

1.10 Opportunity and Incremental Costs 

Incremental costs: This is also known as differential cost. Incremental cost is the 

additional cost which arises from the production or sale of a group of additional units. If a 

fixed cost change, as a result of a decision the increase in costs represents an incremental 

cost. Increase in salaries of sales staff is therefore an incremental cost. 

Opportunity cost: Is the cost which measures the revenue which is lost or sacrificed, 

when the choice of one action requires an alternative course of action to be given up. If 

there is no alternative, then the opportunity cost is zero. Opportunity cost applies to the 

use of scarce resources. ( I.e. material, labour, machine hours, cash etc.) 

Example : Zigma ltd. Who is engaged in distribution of product A has got the opportunity 

to market a new product B. product B gives a margin which is double when compared to 

product A. However, due to unavailability of distribution personnel if product B is 

marketed, it is expected that marketing of product A will have to be stopped by 50%.  

                                 Product A                              Product  B  

Sales commission per unit               Rs. 100.00                                Rs. 200.00 

No : of units distributed per day                 500                                            400 

If product B is accepted zigma ltd. Will have to forego the distribution commission of 250 

units of product A i.e. Rs. 25,000.00   Therefore when evaluating the new product 

distribution , along with the commission income of Rs. 80,000.00 from product B , the 

opportunity cost of Rs. 25,000.00 also has to be considered.  
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1.11 Conversion Costs and Committed Costs 

Conversion cost:  This is the term used to describe the cost of converting purchased 

material in to finished goods or semi- finished goods. i.e. total production cost minus the 

initial material input cost.  (Sum of additional direct material, direct wages, direct 

expenses and absorbed production overhead) 

Committed costs:  Is a future cash outflow which would be incurred anyway whatever 

decision is taken now about alternative opportunities. A company could have committed 

costs on contracts already entered into and which cannot be easily terminated. 

1.12 Shutdown and Abandonment Costs 

Shutdown and Abandonment costs are costs associated with disposal of a business or a 

part of it such as compensation for workers, cost of disposing plant and machinery etc. 

1.13 Notional Cost 

These are costs that do not involve a cash inflow or outflow now or in the future for 

example depreciation. 

1.14 Fixed and Variable Cost 

Fixed Costs:  A cost which is incurred for a period, within certain output and turnover 

limits, tends to be unaffected by fluctuations in the level of activity. E.g.: Rent and rates, 

depreciation, Research and development cost, Executive salaries, Insurance. 

Variable cost:  A cost which tends to vary with the level of activity.  E.g.: sales 

commission, raw material, royalty payments, production wages, carriage and packing 

costs. 

Example: A college student pays Rs.700 per month to rent a two-bedroom apartment. 

The student can advertise for roommates to split the rent and monthly expenses. The 

monthly rent will be a fixed cost. The fixed cost per individual will decline, but the total 

cost remains unchanged (Rs.700). The costs for other monthly expenses, such as food, 

will vary based upon the number of people consuming the food. Thus, food would be a 

variable cost.  

 

A distinction is often made between "Direct" variable costs and "Indirect" variable 

costs. 

 

Direct variable costs are those which can be directly attributable to the production of a 

particular product or service and allocated to a particular cost centre. E.g.: Raw materials 

wages cost of production of line workers. 

Indirect variable costs cannot be directly attributable to production but they do vary with 

output. These include depreciation (where it is calculated related to output - e.g. machine 

hours), maintenance and certain labour costs. 
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Direct and Indirect Costs: An important object of a cost management system is to trace 

as many costs as possible directly to the activities causing them. This can often be the 

most effective method of cost control.  A cost traced to a specific department is a direct 

cost of that department. A cost that cannot be applied to specific department is an 

indirect cost. The categorizing of costs as either direct or indirect often depends on the 

department under consideration.  

Example: A controller’s salary would be an indirect cost of managing the organization; 

however, the controller’s salary would be a direct cost of the accounting department.  

 

Semi-Variable Costs 

Whilst the distinction between fixed and variable costs is a convenient way of 

categorising business costs, in reality there are some costs which are fixed in nature but 

which increase when output reaches certain levels. These are largely related to the overall 

"scale" and/or complexity of the business. For example, when a business has relatively 

low levels of output or sales, it may not require costs associated with functions such as 

human resource management or a fully-resourced finance department. However, as the 

scale of the business grows (e.g. output, number people employed, number and 

complexity of transactions) then more resources are required. If production rises suddenly 

then some short-term increase in warehousing and/or transport may be required. In these 

circumstances, we say that part of the cost is variable and part fixed. 

 

2. Determination of Costs   
 

Costs can be classified into various categories based on various factors i.e. 

2.1 Based on Financial Nature 

2.2 In relation to the product 

2.3 Based on Function 

2.4 Based on cost behaviour 

 

The above methods are discussed in detail below. 

 

2.1 Depending on Financial Nature 

 

a) Financial Costs 

These are costs which have a specific monetary value despite the fact whether they 

are cash transactions or not. 

E.g. operating expenses, interest expenses 

 

b) Non-Financial Costs 

These are costs which cannot be measured by a specific monetary value and are 

qualitative in nature. These costs though cannot be measured accurately monetarily 
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immediately they could evenly be a cost through reduction of sales quantity 

demanded and increase in expenses due to inefficiency or poor maintenance of 

relationships. 

E.g. Low morale of employees, customer dissatisfaction, poor supplier relations 

 

2.2 In relation to the Product 

 

a) Direct Costs or Traceable Costs 

 

These are costs which can be directly identified with a job, batch, product or service. 

Direct costs include Direct Material costs, Direct Labour costs and Direct Expenses such 

as royalty payments. 

 

Direct material: Raw materials used in a product, bought in parts and assembled into the 

product . 

 

Direct labour or direct wages cost : Te remuneration paid to production workers for work 

done directly related to the production or the salaries directly attributable to a saleable 

service. (e.g. audit clerk’s salary in an audit firm) 

 

Direct expenses: expenses incurred specifically for a particular product, job, batch or 

service. E.g. : Royalties paid per unit, plant and tool hire charges for a particular job. 

The total of direct cost is known as the “prime cost” 

I.e. Direct material + Direct labour + Direct expenses = Prime cost  

 

b) Indirect Costs or Common Costs 

 

These costs cannot be attributed for every unit produced. Indirect costs include indirect 

material costs, indirect labour costs and indirect expenses, collectively known as 

overheads. 

 

Examples of indirect costs in a production area. 

 

Indirect material Lubricating oil, consumable materials, maintenance material,                                          

and spare parts for machinery. 

Indirect labour           Factory supervision, Maintenance wages etc. 

Indirect expenses       Rent and rates for the factory, plant insurance 
 

The total cost build up can be shown as follows. Prime cost + Overheads  =  Total cost  

 

To understand how overheads are derived, three further definitions are required which are 

as follows. 
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• Cost centre : A production or service location, function, activity or item of equipment 

whose cost may be attributed to cost units. 

• Cost allocation : The part of cost which has to be charged as a specific cost to a cost 

centre or cost unit. 

• Cost apportionment: the part of cost attribution which has to be shared between two or 

more cost centres has to be split according to an agreed basis. This basis varies from 

cost to cost. The basis selected should produce a fair equitable share of the common 

cost for the relevant cost centres. 

 

Some examples are shown below.  

 

Basis                                                             Cost which may be apportioned on  the said basis 

Floor area                                                     Rates , rent , cleaning ,heating,  building depreciation , 

lighting 

Volume or space occupied                          Building depreciation , lighting heating  

Number of employees in 

each cost centre  

Welfare, general administration, canteen cost, safety cost 

Stores requisitions Store keeping  

Weight of materials Store keeping, weight of materials 

 

2.3 According to Function  

 

a) Production or manufacturing cost 

All costs incurred in the production function such as material purchases, machinery cost 

are included under this. 

 

b) Administration cost 

The costs incurred by the administration department of a company . E.g. :stationery costs, 

rent 

 

c) Selling and Distribution cost 

All costs relating to sales and distribution both internally and externally are included in 

this. E.g. advertising and  other promotion techniques cost , distribution expenses 

 

d) Research and Development Cost 

All costs relating to research carried out to introduce new products and improve existing 

products are referred to as research and development costs. 
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2.4 Based on Cost Behaviour 

 

a) Variable Cost 
 

These are costs that directly vary with output .Consequently, total variable cost is linear 

and unit variable cost is constant. 

 

b) Fixed Cost 

These are costs that remain constant over wide range of activity for a specified time 

period. Total fixed cost is constant for levels of activity whereas unit fixed cost decrease 

proportionately with increased level of activity. 

E.g.                                      Units produced                  Fixed cost per unit (Rs ) 

                                               1                                                 10,000 

                            10                                                 1,000 

                            100                                                  100 

                            1000                                                  10 

Note : Total fixed costs are assumed to be unchanged in response to changes in the level 

of activity, but they may change in response to other factors. For example, a constant time 

period is assumed but if the time is extended the total fixed cost may change. Another 

assumption is that price levels will remain unchanged. If prices increase then total fixed 

cost will also increase. 

c) Semi – Variable Cost 

Costs that have both a fixed element and a variable element are known as a semi – 

variable cost. For example a telephone bill cost is semi variable as there is a rental which 

is fixed and the call charges are variable depending on the number of calls taken. 

d) Stepped Fixed Cost 

These are costs that remain constant for a given activity level but once the activity level is 

exceeded the cost increase and remain constant until the activity is exceeded again. 

2.5 Techniques of cost prediction  

a) High – Low Method 

In this method cost structures at two different activity levels i.e. the highest and lowest 

activity levels are taken to estimate the variable and the fixed cost.  



Chapter 02 – Determination of Costs   

 

25

E.g. X Ltd produces a product in two separate batches i.e. in batches of 1000 units and in 

batches of 2000 units. The total cost of manufacture for the two batches are Rs.10,000 

and Rs.40,000 respectively. 

                       Volume                 Cost  

                       1,000                    50,000 

                        2,000                   70,000  

Difference       1,000                    20,000 

Variable Cost/ unit     = Rs.20,000/1,000 units = Rs.20 each 

Therefore Fixed Cost = Rs.70,000 – (2000units x Rs.20/unit) 

                                   = Rs.30,000 

The problem with this method is that it uses historic data and only considers   the highest 

and the lowest activity levels and ignores the variations in other activity levels. 

b) Scatter Graph Method 

Similar to the high low method scatter graph method plots all the data available for 

different activity levels and then draw what is termed as a ‘ Line of best fit’ which will 

show the variable cost per unit of output. The fixed cost is read off the scatter graph as the 

point where the line of best fit crosses the y axis. 

Line of best fit is a line which passes through the plotted points to equalise the number of 

points on each sided and the aggregate distance from the line. 

E.g. M Ltd produces product XYZ which has the following cost schedule. 

 

Volume Total Cost 

  

0 30,000 

1000 50,000 

2000 70,000 

3000 90,000 

4000 110,000 

5000 130,000 

From the above graph it can be observed that Rs.30,000 i.e. where the activity level is 

zero. The fixed cost and the variable cost can be read off as the difference between the 

total costs of two activity levels i.e. the gradient of the line. 
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c) Least Squares or Linear Regression Method 

This is a statistical method for estimating the line of best fit, given a series of data as in 

the above example for scatter diagram. This is based on the concept of drawing the line 

that minimises the sum of the squares of the deviations of the line from the observed data 

hence it is also called the Least Squares Method. The regression line of Yon X is used 

where Y denotes the total cost and X denotes the level of output. 

The regression line usually takes the format of a straight line and therefore its equation is 

given by, y = a + bx. 

 Where ‘a’ is the fixed cost and ‘b’ is the variable cost per unit of output. Y equals cost .  

There are two formulas for calculating ‘a’ and ‘b’ values. 

                    a = y  - b x  

                     where y = average of all values in the y axis 

                               x  = average of all values in the x axis 

                     b =   Covariance (XY)   =   n∑XY – (∑X )(∑Y ) 

                                 Variance X                 n∑X2 
–  (∑X ) 

2 

                               
Where 

   
∑XY = Sum of the multiples of the corresponding values in X and 

Y axis. 

                                  
   
∑X   = Sum of all X axis values

      
 

                                    ∑Y   = Sum of all Y axis values
       

                                                      
∑X2 

= Sum of the squares of all X axis values
     

                                                          
n    = number of pieces of data 

E.g. B Ltd has the following production volumes and their respective costs are as follows. 

         

Volume 

Total Cost 

(Rs.) 

400 1050 

600 1700 

550 1600 

800 2100 

750 2000 

900 2300 
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Volume 

(X) X
2
 Cost (Y) XY 

    

400 

            

160,000  1,050  420,000  

600 

            

360,000  1,700  1,020,000  

550 

            

302,500  1,600  880,000  

800 

            

640,000  2,100  1,680,000  

750 

            

562,500  2,000  1,500,000  

900 

            

810,000  2,300  2,070,000  

4,000  

      

2,835,000  10,750  7,570,000  

 x  = 4000/6 = 666.67   y = 10750/6 = 1,791.67  

  b = (6 x 7,570,000) – (4,000)(10,750)    =  2,420,000/01,010,000 = 2.4 

             6 x 2,835,000 – (4,000)
2 

    
a = 1,791.67 – 2.4(666.67) = 191.7 

 Hence the fixed cost is Rs.191.70 and the variable cost per unit of output is  Rs.2.40. 

When we are trying to find the cost using past data as shown above, a common problem is 

the effect of inflation on the costs. To get the real underlying cost characteristics, the 

effects of inflation must be allowed for. 

 

┼ Exercise  

Following are the production and cost data which have been recorded over two years. 

                                                                           Last year                Current year 

Production                                         50,000 units             54,000 units 

Total costs                                         Rs. 1,700,000           Rs . 1,835,400 

Between last year and the current year the inflation rate is 5 %   .  

Required ;  

Calculate the real fixed and variable cost. Estimate what the total cost will be next year 

if it is expected the rate of inflation on cost to be 4% and output level is 56,000 units. 
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┼ Solution  

 Eliminate the inflation effects from data supplied . 
 

Current year cost in real terms   = Current year actual cost  

                                                       Inflation rate + 1 

                                                          = 1,835,400 

                                                               1.05 

                                                          = 1,748,000 

Find the fixed / variable cost from the real cost and production differences. 

                                         Production units                 Costs  

Current year                         54,000                         Rs. 1,748,000 

Last year                               50,000                         Rs. 1,700,000 

Difference                              4,000                          Rs . 48,000 

Therefore real variable cost per unit            =  Rs. 48,000  =  Rs. 12/-          

                                                                                 4,000 

Real fixed cost                              = Rs. 1,748,000- ( 54,000*12)= Rs. 1,100,000 

 

Therefore the actual cost in the current year is made up as follows.  

( Rs. 1.1 Mn *1.05) = ( Rs 54,000*12*1.05)  = Rs. 1,835,400 

Cost estimate for the next year  

( Rs. 1.1mn *1.05*1.04) + (56,000*12*1.05*1.04)= Rs. 1,935,024 

 

 

┼ Case Example - Costing and Pricing Information Services 

 

When approaching the topic of pricing information services, there is a question to bear 

in mind: if mighty Dialog hasn't found a sensible way of charging for information after 

over 25 years, what hope is there for a lone information professional? This is over-

stating the case a little, but it is sometimes reassuring to be reminded that no-one finds 

pricing information services a straightforward activity. Marketing textbooks tell us that 

marketing services can be a challenge, and a brief trawl of the Library and Information 

Science literature shows that LIS researchers have been debating ways of determining 

the value of information for decades (and value is extremely relevant to price!) 

Nevertheless, it is possible to take control on the pricing issue, and use price creatively 

as part of the mix in marketing your service. 

 

Pricing as Part of the Mix 

In marketing terms, pricing is viewed as part of the marketing mix, along with 

Promotion, Place (distribution), Product (i.e. the product/service you are offering) and 

(for services) People and Process. Marketing textbooks all stress that is important to see 

price in this context, rather than in isolation. If clients are not using a service, you could 

consider altering the service and the way it is provided, reviewing the way that the staff 

are handling the service, promoting the service more effectively, - or altering the price. 

However, if you assume that people are not using a service because it is too expensive, 

and then put the price down, you could be making a mistake.  
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Philip Kotler, a marketing guru who has written extensively about marketing of services 

and marketing in non-profit organisations, has redefined the 'P's' of the Marketing Mix 

as 'C's'. In this new system, 'Price' becomes 'Cost to the user'. This is a useful reminder 

that a user will look at all the time, money and energy they have expended in order to 

use the service, not just the part you charge for. Therefore, users might be willing to pay 

extra for a service that delivered information directly to their door, because the overall 

cost to them is lower, rather than paying less and having to collect the information 

themselves. (This is a problem that online services have been struggling with: it took 

them a while to realise that the user included telecommunications and hardware etc. in 

the 'cost of online' - not just the host's connect and hit charges). If you are starting out, or 

feel that a change in strategy is needed, it is important to get feedback from users and 

potential users, rather than jumping to conclusions. However, when drawing up 

questionnaires or handling focus groups, the question of price has to be approached 

carefully. On the one hand, a number of information brokers have commented that what 

people say they are prepared to pay in theory (i.e. when answering a pre-service 

questionnaire), does not tally with what they are prepared to pay in practice. In addition, 

users may prefer to say 'I didn't use the service again because it was too expensive' 

rather than giving the real reason (e.g. 'I didn't use it again because the person doing my 

search used a lot of jargon and didn't explain why she didn't find much') because the 

'price' answer is less likely to be probed and challenged. Therefore, you may not want to 

ask directly how much people are willing to pay for a service: it may be more useful to 

find out which services are valued most, and to analyse user needs and usage patterns, in 

order to identify what people would be willing to pay most for.  
 

Knowing Your Objectives 

Your pricing strategy needs to fit in with the overall mission of your organisation, and 

reflect your financial objectives: it will be part of your marketing or business plan. The 

usual advice about goals and mission applies: if your staff does not 'own' the objectives, 

then they may not work to support them. I know of one information service where 

reference staff (who disagreed with the policy of introducing charges for some types of 

enquiry) was advising users about ways to get round the charges and obtain the 

information for free.  

The diagram below illustrates the process of deciding on pricing strategies.  

Marketing objectives 

 

Pricing Objectives 

 

Examination of determinants - e.g. costs, demand, competition 

 

Decision on the role that pricing will play in the marketing mix 

 

Development, and evaluation of the effect of, pricing strategies 
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At each stage, results of research may mean returning to, and revising, decisions made at 

an earlier stage.  

 

Knowing your Costs 
 

In order to be able to price something, you need to know how much it costs. This means 

having Management Information Systems (MIS) which provide information on the 

separate services you provide. As well as different types of service, you are likely to 

want to track use by different individuals or groups of people. If you have set up your 

own business, this is something you can determine for yourself (possibly in conjunction 

with your accountant, and bearing in mind what is and is not tax-deductable). Even if 

you have your own business, though, you are likely to need more management 

information than is necessary for accounting purposes, in order to track performance of 

different parts of the service and different client groups.  
 

If you work as part of an organisation, it is important to know what they mean by cost 

recovery: does this mean direct costs only, or all costs including overheads such as 

accommodation, heating and superannuation? Different organisations allocate overheads 

in different ways. A bluffer's knowledge of accounting terms and MIS jargon will be 

very useful.  
 

A common way of distinguishing costs is to look at whether they are fixed or variable 

costs, and whether they are direct costs or overheads. Fixed costs are those which are 

the same whatever the usage (e.g. a journal subscription, photocopier rental): they may 

also involve an up-front commitment. Variable costs are those which vary according to 

usage (e.g. online searches, photocopy paper costs). In organisations which are worried 

about cash flow, there may be a preference for incurring variable costs (less risk of 

paying for something you do not use).  
 

Direct costs are those which can be associated directly with the service (e.g. a journal or 

piece of equipment bought specifically for use in one service) and overheads are costs 

which benefit a range of services (e.g. the cost of heating and lighting university 

buildings). A salaried employee employed on a specific service might be seen as a fixed, 

direct cost. An online search carried out for the same service would be a variable direct 

cost.  
 

A number of fee-based services have found that they need to keep more detailed records 

than their organisation's MIS is able to provide. If you work in the sort of organisation 

where objectives may be changed without warning, then it is useful to have costing data 

to hand which will enable you to work out quickly, for example, the effect of having to 

include accommodation costs for the first time, or split costs differently between internal 

clients.  
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Case Example - Using cost analysis to support cost classifications in programmes.  

 

Cost analysis of a program has several purposes. They could be to assess the financial 

feasibility of the program, to monitor the performance of centres, to assess the program's 

cost-effectiveness, and to raise funds. For any cost analysis a clear cost classification will 

be useful for an organisation.  

 

Assessing feasibility 

 

Financial feasibility is an essential criterion for funding a project. A good cost 

classification by subcomponents provides the basic framework for a detailed "costing of 

the project". This exercise may lead to a conclusion that the original goals were 

overambitious, forcing a reconsideration of the size of the project, the size or richness of 

its components, or perhaps the modes of service delivery. The purpose of the exercise is 

to align goals, means, and financing in a viable proposal.  

 

Monitoring performance 

 

In systems composed of many centres or units operating similar programs but under 

different conditions, it is important to know where unit costs vary substantially from the 

norm, and why. Are different components being used? Are components being used in 

different proportions? Is the scale of operations different? Are the prices paid for the 

components different? And regardless of the reason for the substantially different unit 

costs, are the differences in cost associated with differences in child development 

outcomes?  

 

In addition to comparing unit costs across centres, it is also useful to track these costs 

over time for each centre and group of establishments. A significant rise in unit costs 

should prompt an investigation of the causes and corrective action whenever possible, 

while a decline in costs might signify efficiency improvements that could be adopted in 

other centres. When unit costs change as a result of unavoidable changes in the prices of 

components, the analysis will still be valuable for improving budgetary forecasting and 

financial planning.  

 

Relating Costs to benefits 

 

While the analysis of cost alone has many uses, a comparison of costs and benefits is 

required when considering a new project, deciding whether to expand an existing one or 

to introduce efficiency improvements, and choosing the modes of provision. Determining 

costs is relatively easy; the major stumbling block is often defining and measuring the 

benefits, or effects, of the program.  
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┼ Practice Questions – Cost Classification 
 

A company manufactures and retails clothing. You are required to write the correct cost 

classification for each of those costs below in the space provided. Each cost is intended 

to belong to one of the following.  

1. Direct materials 

2. Direct labour 

3. Direct expenses 

4. Indirect production overhead 

5. Research and development cost  

6. Selling and distribution cost 

7. Administration cost 

8. Finance cost 
 

1. Lubrication for sewing machines   

2. Floppy disks for general office computer                                  

3. Maintenance contract on general office photocopy machine     

4. Telephone rental plus metered calls                                          

5. Interest on bank overdraft                                                          

6. Performing rights society charges for music broadcast through                

out the factory.                                                                          

 

7. Market research undertaken prior to a new product launch  

8. Wages of security guards for factory.                                        

9. Carriage on purchases of basic raw material                              

10. Royalty payable on product XY produced                                 

11. Road fund license for delivery vehicles                                     

12. Parcels sent to customers                                                            

13. Cost of advertising products on television                                  

14. Audit fees                                                                                     

15. Chief accountant’s salary                                                             

16. Wages of cutting department                                                        

17. Cost of painting advertising slogans on delivery vans                 

18. Wages of store keepers in materials store                                     

19. Wages of fork lift truck drivers                                                     

20. Developing a new product in the laboratory                                 
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Solutions 

     Item                      Classification                        Item                    Classification 

1.  4                                   11.                           6      

2.  7                                   12.                           6 

3.  7                                   13.                           6 

4.  7                                   14.                           7 

5.  8                                   15.                           7 

6.  4                                   16.                           2 

7.  6                                   17.                           6 

8.  4                                   18.                           4 

9. 4                                    19.                           4 

10. 3                                    20.                           5 

 

 

♪  My Short Notes  

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Chapter 02 – Determination of Costs   

 

34

♪  My Short Notes  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Chapter 03 – Standard Costing and Variance Analysis    

 

35

Chapter 3 

Standard Costing and Variance Analysis 
 

This chapter will cover the following areas: 
 

1. Introduction to Standard Costing 

2. Setting Standards 

3. Computation of Variances and Evaluation of Performance 

4.  Costing and Pricing Decisions 
 

 
 

1. Introduction to Standard Costing 
 

Standard costing is a technique which establishes predetermined estimates of the costs of  

products and services and then compares these predetermined costs with actual costs as 

they are incurred. The predetermined costs are known as standard costs and the 

difference between the standard cost and the actual cost is known as a variance. The 

process by which the  total difference between actual cost and standard cost is broken 

down into its different elements is known as variance analysis. 

 

Example of a Standard Cost Card of a product is shown below. 

 
  Standard Cost of Product X 

     

Raw Materials - A 5 kg @ Rs.50/kg Rs.250 

           -B 10kg @ Rs.45/kg Rs.450 

Direct Labour 5hrs @ Rs.60/hr Rs.300 

Variable Overhead 5hrs @ Rs.30/hr Rs.150 

    Rs.1150 

 

1.1 Advantages of a Standard Costing System 

 

 a. They facilitate management planning. 

 

 b. They promote greater economy by making employees more "cost conscious." 

 

 c. They are useful in setting selling prices. 

 

 d. They contribute to management control by providing a basis for the evaluation of  

cost control. 

 

 e. They are useful in highlighting variances in management by exception. 
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1.2 Disadvantages of a Standard Costing System 

 

a. It may be expensive and time consuming to install a standard costing system 

throughout the entire company. 

 

b. In rapidly changing methods , rates and prices  standards become out of date and 

thus lose their control and motivational effects.  

 

c. Standard costing concentrates on a narrow range of financial factors. Many other 

factors are important to consider in setting standards such as ; quality , lead times , 

customer satisfaction, economic and political conditions . 

 

d. Where a JIT principles are adopted standard costing will become less useful in 

modern factories.  

 

1.3 Types of Cost Standards. 

  

Standards are normally classified  into three broad categories. 

 

a. Basic Standards 

b. Ideal Standards 

c. Attainable Standards 

 

Basic Standards  :  Basic Standards are standards that have been established for use over 

a long time period from which a current standard can be developed. Basic standards 

usually do not change overtime hence are not used widely by companies. This is because 

in today’s world businesses are continuously changing hence static standards are of 

limited use for management control. 

 

Ideal Standards : These are based on the best possible operating conditions, i.e., no 

breakdowns, no material wastage , no stoppages or idle time. Ideal standards are based on 

the assumption of  perfect efficiency hence are usually not achievable. Ideal standards if 

used , would be revised periodically to reflect improvements in methods , materials and 

technology . 

 

Attainable Standards : Attainable Standards are standards that can be achieved under 

normal working conditions if work is carried out efficiently with machines operated 

properly and materials used in the most effective manner. Allowance is made for normal 

losses, waste and machine downtime. These are the standards that provide the most 

appropriate information for management control. They can be used for product costing , 

cost control , stock valuation and as a basis for budgeting . 
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┼ Activity  
 

Discuss the likely impact each of the above standards will have on the motivation of 

managers in a company. 
 

 

2. Setting Standards. 

 

Realistic standards which can be used for control purposes rest on a foundation of a 

properly organised, standardised methods and procedures and a comprehensive 

information system.  Setting standards requires input from all persons who have 

responsibility for costs and quantities.  
 

Standards may be set at one of two levels as discussed above.  Ideal standards represent 

optimum levels of performance under perfect operating conditions. Normal/Attainable 

standards represent efficient levels of performance that are attainable under expected 

operating conditions 
 

       A standard cost implies that a target or standard exists for every single element which 

contributes to the product , the types , usage and prices of materials and parts , the grades , 

rates of pay , times of labour, production layout , tools etc. 

 

a) Standard Price Per Unit 
 

The direct materials price standard is the cost per unit of direct materials that should be 

incurred 
 

• This standard is based on the purchasing department's best estimate of the cost of raw 

materials. 

• This standard should include an amount for related costs such as receiving, storing, 

and handling. 

 

The direct labour price standard is the rate per hour that should be incurred for direct 

labour. 
 

• This standard is based on current wage rates adjusted for anticipated changes, such 

as cost of living adjustments. 

• This standard generally includes employer payroll taxes and fringe benefits. 

 

b) Standard Quantity Per Unit 
 

The direct materials quantity standard is the quantity of direct materials that should be   

used per unit of finished goods. 

 

• This standard is expressed as a physical measure, such as pounds, barrels, or board 

feet. 
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• This standard should include allowances of unavoidable waste and normal storage. 

 

    The direct labour quantity standard is the time that should be required to make one unit   

    of the product 

         

• This standard is especially critical in labour-intensive companies. 

• In setting this standard, allowances should be made for rest periods, cleanup, 

machine setup and machine downtime. 

 

c) Overhead Standards 

 

Predetermined overhead absorption rates become the standards for overheads for each 

cost centre. 

 

• This overhead rate is determined by dividing budgeted overhead costs by an expected 

standard activity index. 

• The standard manufacturing overhead rate per unit is the predetermined overhead rate 

times the direct labour quantity standard. 

 

3. Computation of Variances and Evaluation of performance 

 

A variance is the difference between the standard cost/ revenue and the actual 

cost/revenue. Total cost Variance can be categorized into many components as shown 

below. An unfavourable variance suggests that too much was paid for materials, labour 

and overheads as there were inefficiencies in using materials and labour.   

 

Favourable variances indicate efficiencies in incurring overheads and using materials and 

labour. A variance matrix can be used in analyzing variances.  In such cases, the formulae 

for each cost element are computed first and then the variances. 

 

Components of a Variance could be presented as follows in the diagram in the next page.  

 

3.1 Direct Material Price Variance 

 

The difference between the standard price and actual purchase price for the actual 

quantity of material. If the actual price is greater than the standard price then this variance 

is unfavourable as the company has spent more on purchasing materials and the variance 

is favourable if actual price is less than the standard price. 

  

 

                  Actual Quantity Actual Quantity Materials Price 

           X Actual Price           -  X Standard Price        =  Variance 

     (AQ) X (AP)      (AQ) X (SP)                      (MPV) 

  



Chapter 03 – Standard Costing and Variance Analysis    

 

39

Example - If J Ltd expected to purchase Material A for Rs.50/kg and actually purchased 

500kg costing Rs.30,000 what is the material price variance of J Ltd. 
 

= (500kg x Rs.60) – (500kg x Rs.50) = 5000 unfavourable 

 

Causes for Material Price Variance 

• Increase/decrease in general prices 

• Change of suppliers 

• Increase or decrease in quantity discounts 

• Buying substitute material due to unavailability of planned material .  

 

Components of a Variance 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
Price         Quantity                Rate      Efficiency        Expenditure    Efficiency    Expenditure   Volume 

 

 

Total 

Material 

cost  

Total 

Labour 

cost  

Total 

Variable 

Overhead  

Total Fixed 

Overhead  

Profit Variance 

Selling and 

Distribution cost 

Variances 

Total Production 

Cost Variances 

Total Sales 

Margin Variance  

Material 

Variances 

Labour 

Variances 

Variable 

Overhead 

Variances 

Fixed 

Overhead 

Variances 

Sales 

Margin 

price 

variance 

Sales 

Margin 

Volume 

Volume 

variance 

Mix 

Variance 

The components of Total Cost Variance can be further broken down as shown 

in the diagram below. 
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3.2 Material Quantity/ Usage Variance 
 

This Variance calculates the impact on expected profits as a result of the quantity 

differential between standard quantity to be used for production and actual quantity of 

materials used for production at standard purchase price.  If the actual quantity used is 

greater than the standard quantity planned to be used then this variance is unfavourable as 

the company has spent more on the volume of materials and if the opposite happens this 

variance is favourable. 

 

  

  

 

 

 

 

        Example : If J Ltd expected to purchase 600 kg of Material A for Rs.50/kg and actually 

purchased 500kg costing Rs.30,000 what is the material quantity variance of J Ltd. 

 

= (500kg x Rs.50) – (600kg x Rs.50) = 5000 favourable 

 

Causes for Material Usage Variance 

• Increase/decrease in the level of scrap 

• Changes in method of production. 

• Quality of material used 

 

3.3 Total Material Cost Variance 

 

The difference between the standard direct material cost of the actual production volume 

and the actual cost of direct material. Alternatively ,the total material cost variance is the 

addition of material price and material quantity variance and is calculated as follows: 

 

 
 

Materials price variances are usually the responsibility of the purchasing department, 

whereas materials quantity/usage  variances are attributable to the production department.  

 

┼ Activity  
 

Calculate Total Material Cost Variance of J Ltd using the formula, and see whether it is 

equal to the addition of price and quantity variances.. 
 

 

 

 

Actual Quantity                           Standard Quantity  Total Materials 

X Actual Price             -                X Standard Price           = Variance 

(AQ) X (AP)                                  (SQ) X (SP)                                (TMV) 

                  Actual Quantity                   Standard Quantity             Materials 

          X Standard Price          - X Standard Price       =    Quantity Variance                  

      (AQ) X (SP)     (SQ) X (SP)                      (MQV) 
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3.4 Direct Labour Rate Variance 
 

 This Variance calculates the impact on expected profits as a result of the rate differential 

between standard rate and actual rate of labour for the total hours worked. If the actual 

rate is greater than the standard rate then this variance is unfavourable as the company has 

spent more on labour and the variance is favourable if actual rate is less than the standard 

rate. 
 

 

 

 

 

 
 

Causes for Labour Rate Variance 

• Increase/decrease in wages 

• Changes to  overtime/bonus plans 

• Quality of labour used than planned 

 

┼ Activity  
 

If K Ltd has budgeted for a total of 5000 labour hours for the current month at a 

standard rate of Rs.100/hr and the actual labour hours worked were 5250 labour hours 

at a total cost of Rs.525,000. Calculate the Labour Rate Variance. 
 

 

3.5 Direct Labour Efficiency Variance 
 

This variance calculates the impact on expected profits as a result of the differential 

between standard hours worked and actual hours worked valued at the standard labour 

rate .  If the actual hours are greater than the standard hours then this variance is 

unfavourable as the company has spent more labour hours and the variance is favourable 

if actual hours are less than the standard hours. 

 

 

 
┼ Activity  
 

Calculate Labour efficiency variance for K Ltd using the above activity 

 

 

 

Actual Hours  Standard Hours                     Labour Efficiency 

X Standard Rate - X Standard Rate       =         Variance 

(AH) X (SR)  (SH) X (SR)            (LEV) 

 

Actual Hours  Actual Hours  Labour Rate 

X Actual Rate - X Standard Rate      = Variance 

(AH) X (AR)  (AH) X (SR)     (LRV) 
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Labour efficiency variances relate to the efficiency of the workers and are the 

responsibility of the production department. 

 

Causes for Labour Efficiency Variance 

• Learning curve effect 

• Enhanced working conditions 

• Use of incorrect grade of labour 

• Poor workshop organisation or supervision. 

• Motivation level of the workforce 

 

3.6 Total Direct Labour Cost Variance 
 

The difference between the standard direct labour cost and the actual direct labour cost 

incurred for the production achieved . Alternatively , is the addition of Direct Labour Rate 

Variance and Direct Labour Efficiency Variance. 

 

┼ Activity  
 

Devise the formula for the calculation of the Total Direct Labour Cost Variance using 

similar notation to above formulas and calculate this variance for the above K Ltd. 

 

 

3.7 Variable Overhead Expenditure Variance 

 
The difference between the actual variable overheads incurred and the allowed variable 

overheads based on the actual hours worked.  

 

 
 

In the above formula rate relates to Variable Overhead Absorption rate. 

 

V.O.A.R.=   Budgeted variable overheads 

 Budgeted activity level 

 

3.8 Variable Overhead Efficiency Variance 

 

The difference between the allowed variable overheads and the absorbed variable 

overhead. 

 

 

 

Actual Labour Hours                    Actual Labour Hours              Variable Overhead  

X Standard Rate             -               X Actual Rate              =      Expenditure Variance 

 

Actual Labour Hours              Standard Labour Hours           Variable Overhead  

X Standard Rate             -          X Standard Rate           =      Efficiency Variance 
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In the above formula rate relates to Variable Overhead Absorption rate. 

 

3.9 Variable Overhead Total Variance 

 

This is the difference between the planned total variable overhead cost and the actual 

variable overhead cost. It is over / under absorption of overheads . 

 

┼ Activity  
 

K Limited has budgeted Variable overhead cost for October of Rs.84,000. Budgeted 

production is 20,000 units of its product X. A total of 40,000 labour hours are expected 

to be worked. During October actual production was 20,500 units. Actual labour hours 

worked were 41,600 hours and the variable overhead cost incurred amount to 

Rs.86,700. The respective Variable Overhead Expenditure and Efficiency variances 

would be: 

 

1.   660(F) and 1260(A) 

2.   660(A) and 1260(F) 

3. 1260(A) and   660(F) 

4. 1200(F)  and  600(A) 

 

 

3.10 Fixed Overhead Expenditure Variance 

 

This is simply the difference between Actual and Budgeted Fixed Overhead Expenditure. 

If actual expenditure is more than budgeted then this variance is adverse/unfavourable. 

 

 

Budgeted Fixed Overhead     -   Actual Fixed Overhead   =    Fixed Overhead  

Expenditure                                Expenditure                           Expenditure Variance 

 

 

3.11 Fixed Overhead Volume Variance 
 

This variance measures the difference between the amount actually absorbed based upon 

actual production (in standard hours) compared to the amount expected to be absorbed 

based upon budgeted production (in standard hours). 

 

 

 

 

 

 

In the above formula rate refers to standard fixed overhead rate which is calculated as 

follows. 

 

Actual Production at                Budgeted Production at            Fixed Overhead 

the Standard Rate             -         the Standard Rate           =      Volume Variance 
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Fixed Overhead Absorption Rate = Budgeted Fixed Costs 

                                                          Budgeted Activity Level 

 

Budgeted activity level can be budgeted machine hours, budgeted labour hours or even 

budgeted production units.   

 

The volume variance arises due to difference in the volume of production and the planned 

volume. This difference in the volume of production can be due to following .  

 

• Labour efficiency being greater or less than planned (the efficiency variance) 

• Hours of work being greater or less than planned. (the capacity variance) 

 

Therefore the fixed overhead volume efficiency variance can be further sub- divided in to 

Fixed overhead efficiency variance and fixed overhead capacity variance.  

 

(a) Fixed Overhead Efficiency Variance – is the difference between the standard cost 

absorbed in the production achieved, whether completed or not  and the actual direct 

labour hours worked valued at the standard hourly absorption rate.  

 

Actual labour hours * F.O.A.R   - Standard hours of production* F.O.A.R. = Efficiency 

variance 
 

(b) Fixed overhead capacity variance – It is the portion of the fixed overhead volume 

which is due to working at higher or lower capacity than standard. Capacity is expressed 

in terms of direct labour hours per day, and the variance is the difference between the 

budget cost allowance and the actual direct labour hours worked valued at the standard 

hourly absorption rate.  

 

Budgeted fixed overheads- Actual labour hours* F.O.A.R.  = Capacity variance 

 

┼ Activity  
 

The following data relates to the fixed overheads of AP Ltd. 
 

Budgeted Cost                       Rs.50,000 

Budgeted Production             5000 units 

Budgeted Labour Hours        15000 

Actual Cost                            Rs.45,000 

Actual Production                  5500 units 

Actual Labour Hours             15500 

 

Calculate the Fixed Overhead Variances of AP Ltd if the basis used for absorption of 

overheads is labour hours. 

 

Hint: to calculate the fixed overhead variances first convert actual production into 

standard hours. 
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3.12 Sales Variances 
 

The objective of the variances discussed earlier is to help management to control costs. 

To achieve planned profits , management also wish to control sales or to control the 

margin from sales. 

 

a) Total Sales Margin Variance – is the difference between budgeted margin from 

sales and the actual margin when the cost of sales is valued at the standard cost of 

production.  

 

b) Sales Margin Price Variance- is the difference between the standard margin per unit 

and the actual margin per unit for the number of units sold in the period. 

 

      Sales margin price variance = (Actual margin – Standard margin) Actual sales volume 

 

c) Sales Margin Quantity Variance – is the difference between the budgeted number 

of units sold and the actual number sold valued at the standard margin per unit. 

 

Sales margin   = (Actual sales volume – budgeted sales volume)standard profit margin 

quantity variance 

 

When more than one product  is sold, the sales margin quantity variance can be sub-

divided into a Mix variance and a Volume variance. The mix variance shows the effect on 

profits of variations from the planned sales mixture, and the volume variance shows the 

effect of the unit volume varying from standard. 

 

• Sales margin mix variance – It is the portion of sales margin quantity variance which 

is the difference between the actual total number of units at the actual mix and the 

actual total number of units at the standard mix valued at the standard margin per unit. 

 

•    Sales margin volume variance – It is the portion of sales margin quantity variance 

which is the difference between the actual total quantity of units sold and the 

budgeted total number of units at the standard mix valued at the standard margin per 

unit. 

 

3.13 Reporting of Variances  

 

All variances should be reported to appropriate levels of management as soon as possible.  

Variance reports facilitate the principle of "management by exception."  Rather than 

analyze every variance, top management will normally look for significant variances. 
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┼ Activity  
 

M Ltd is a company engaged in manufacturing women’s garments. Costs have been 

increasing at an increasing rate since of previous months and the company’s 

management accountant is working together with the financial accountant to find the 

inefficiencies in the company and to reduce those in order to cut costs and improve 

revenue thereby the profit. The company at the beginning of the year has set its 

standard costs as follows. 

 
Standard Product Cost Rs. 

   

Material X 5Kg @ Rs.50 250 

Material Y 2Kg @ Rs.60 120 

Unskilled Labour 5 hrs @ Rs.20 100 

Skilled Labour 3hrs @ Rs.30 90 

Variable Overheads 3hrs @ Rs.25 75 

  635 

 

Budgeted Fixed Costs were Rs.500,000 for an expected activity level of 1000 units. 

Actual Costs were as follows for the period. 

 

5000 Kg’s of Material X were used at a cost of Rs.30,000. 6000 Kg’s of Material Y 

were bought at a total cost of Rs.32,000. Unskilled Labour worked a total of 5000 hrs 

and Skilled Labour worked a total of 8000 hrs. Variable Overheads are charged on the 

basis of Skilled Labour hrs. Skilled Labour was paid Rs.35/hour whilst Unskilled 

Labour rate was equal to the budgeted rate. The total variable overhead expenditure 

was Rs.34,000. Fixed overheads for the period was Rs.650,000. The actual output for 

the period was 2000 units. 

 

Calculate all the relevant variances and comment on the performance of M Ltd. 

 

 
4. Costing and Pricing Decisions 
 

4.1 The Pricing Mix 

 

Prices in any particular market depend on the interaction of costs, demand and 

competition. It is the interaction or mix which is all important. None of these factors acts 

in isolation and certainly none should provide the sole basis for price setting. 

 

It is relatively simple to decide on upper and lower price limits for your products. At 

some point prices will be lower than costs, so that the venture is not worth your while. At 

the other extreme, beyond a certain point no one will be willing to buy a product or 

service you have to offer. Just where prices settle between these two extremes will 

depend on the relative strength of these three key factors-cost, demand and competition. 
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4.2 Costs 

 

Costs are important. Once costs are known they provide a reference point for assessing 

profitability and enable you to see whether or not the expected return is satisfactory. In 

addition, apart from loss leaders and short term promotions, they show the minimum level 

below which prices will not normally be set. Whatever pricing strategy you decide to 

adopt, there must be a price below which it is simply not worth your effort. However, this 

is the only point at which costs should affect pricing decisions. 

Using a simple "cost-plus" formula for determining prices, although convenient, takes no 

account of either what the market will bear or how your products or services compare 

with the competition. 
 

4.3 Others  
 

a) Demand 

 

There must be a demand for your product, otherwise it will not sell - at any price. 

However once it has been established that a demand exists, all too often prices are set in 

relation to costs and competition, without taking demand properly into account. 

We must remember that customers do not simply buy products - they buy benefits, i.e. the 

benefits that acquiring the product or service will bring. Ask yourself the following 

questions: 

 

• What benefits do customers get by buying my/our product?  

• What special benefits do they get by buying from me/us?  

• What are these benefits likely to be worth to them?  

• What might they be prepared to pay for these benefits?  

 

Only by considering the possible prices for your product or service can you take into 

account the effect that competition might have in keeping the price down. 

 

b) Competition 

 

Some markets - especially where barriers to entry are low and products are more or less 

the same - can be extremely competitive. However, not all competition takes the form of 

price cutting - often it leads instead to an emphasis  on brand advertising to improve the 

image and price position of the product. In markets like these, although advertising 

clearly has an impact, it is by no means easy to decide just how much advertising is 

required to achieve a given price premium. 

 

The main point to remember is that you don't have to undercut everybody to break into a 

particular market. If the lower price sector is crowded already, it may well be better to 

aim for another part of the market altogether - provided, of course, that you adapt your 

marketing plans and budgets accordingly. 
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Since costs, demand and competition can all change fairly frequently, it is important to 

keep your prices under review, to be sure that they are in line with what you are trying to 

achieve. 

 

4.4 How Important is Pricing ? 

 

Getting one's prices right is vital to the success of any business. It has a direct effect both 

on levels of output and on profitability. In contrast, the significance of price to the 

customer can vary widely from one market to another. Many factors affect the customers 

decision to buy - quality, reliability, after-sales service and price can all play a part. In 

consumer markets where products are fairly similar and heavily branded, price is often 

paramount. For lower-priced goods on the other hand, where the effort of "shopping 

around" is less worthwhile, other factors such as convenience can be much more 

important. 

 

For industrial markets, where purchasing decisions are often made by professional buyers, 

the choice between suppliers can be quite complex. Price is usually of some importance - 

but so too are other factors such as reliability of supply. After all, there is little point in 

negotiating the best possible discount if this means that you are last in the queue for 

deliveries. 

 

4.5 The Effect on Profitability 

 

Efforts by firms to improve their profitability often concentrate on reducing costs and 

increasing sales to spread overheads. Companies frequently spend considerable amounts 

of time and effort trying to increase efficiency and reduce costs, whereas making higher 

prices stick in the market place can often have a more dramatic effect on profitability. 

Indeed it is frequently easier to increase profitability by improving profit margins than by 

chasing extra sales, especially if your market share is substantial already. Of all the 

factors affecting profitability, the profit margin is most directly significant. This is not 

surprising when we consider the following relationship: 

 

 

 

 

 

 

 

From this simple arithmetic it is clear that increasing the profit margin, for example by 

four percentage points, has the effect of increasing overall return on assets by almost half! 

 

 

  profit  sales 

Return on assets =   ×   
  sales  assets 

 

15% = 10% × 1,5 

21% = 14% × 1,5 
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4.6 Pricing Strategy 

 

The only time when price setting is not a problem is when you are a "price-taker" and 

have to set prices at the going rate, or else sell nothing at all. This normally only occurs 

under near-perfect market conditions, where products are almost identical. More usually, 

pricing decisions are among the most difficult that a business has to make. In considering 

these decisions it is important to distinguish between pricing strategy and tactics. Strategy 

is concerned with setting prices for the first time, either for a new product or for an 

existing product in a new market; tactics are about changing prices. Changes can be either 

self-initiated (to improve profitability or as a means of promotion) or in response to 

outside change (i.e. in costs or the prices of a competitor). 

 

Setting prices at different levels has important implications for sales output, market share 

and profitability. When introducing new products, some key decisions about market-

positioning must therefore be made at the outset. The answers to the following questions 

can be all important: 

 

• What benefits does the new product offer compared with the products of 

competitors' ?  

• What are these benefits likely to be worth and to whom ?  

• How long will this competitive advantage last ?  What is the products expected life 

cycle ?  

• What is the total potential market at different prices ?  

• How large a market share is being sought ?  

• Is a quick return required, or are you prepared to exploit the potential more 

gradually ?  

• Are resources available for spending on advertising to support a brand image and 

justify a premium price ?  

• How will the product fit in with others in the range - will it create new sales or shorten 

the lives of other products ?  

 

Once these questions have been answered the market strategy, and the broad price level 

implied should start to emerge. 

 

4.7 Some Alternative Pricing strategies 

 

A business introducing a new product may decide to adopt an "up-market" strategy and 

charge a higher price at first, only introducing lower-price models or reducing the price of 

the existing model as the competition starts to catch up. Alternatively, it may follow a 

market share or market penetration pricing strategy. In this case it aims for market 

domination by setting a low price from the start, calculating that this will discourage 
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competitors and enable it to capture a larger market share and achieve greater volume 

production at lower unit cost. In this way profits may still be higher despite lower prices. 

Such a pricing strategy can pay off handsomely, especially where demand is price 

sensitive and costs fall significantly with higher production. There is no "right" pricing 

strategy for all situations. The one to choose will depend on the prevailing market 

conditions and what your company is trying to achieve. 

 

4.8 Effect on Life Cycles 

 

Price positioning must take account of a product's position in it's life cycle as well as the 

life cycle of replacement products. As a product gets towards the end of its effective life 

its price position is likely to become weaker. If its price is changed this may affect other 

products in the range. A lower price, for example, may extend the product's own life but 

curtail the life of other, more profitable, new products. 

 

4.9 Market Share 

 

The response from competitors is likely to be greater the larger the market share you hold. 

The bigger your market share the more impact you will have on your competitors and 

therefore the more careful you need to be before making a price change. After all, if you 

are going to start a price war you should try to make sure beforehand that you are going to 

win it. 

 

4.10 Advertising Support 

 

Prices will depend on the size of the planned marketing budget, since this will affect your 

ability to convince buyers to pay higher prices. Although advertising can help sustain 

higher prices by creating a brand awareness and greater customer loyalty, don't forget that 

it can be very expensive. 

 

4.11 Image 

 

If you have invested time and money building up a brand image emphasizing the various 

non-price benefits of your product, it may do more harm than good to introduce low-price 

products into your range. Consider carefully what low-priced items may do to the 

brand/business image that you are trying to develop. 

 

4.12 Tactical Pricing 

 

Tactical pricing is concerned with making changes in your own prices and responding to 

price moves by others. Of course, pricing should not be seen in isolation but as a part of 

the overall marketing mix. Offering larger discounts- equivalent to cutting prices- might 

for example be a legitimate response to the start of a competitor's advertising campaign. 
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4.13 Initiating Price Changes 

 

The following circumstances may lead you to think about cutting prices: 

• If you have excess capability and need a short-term increase in business, and if you 

have failed to achieve this by more or better non-price marketing.  

• If you are seeking to expand market share in the face of intense competition.  

• If you are aiming at market domination in the hope of higher-volume production and 

lower unit costs.  

 

On the other hand, price increases often result from over-demand for your product. If you 

cannot supply all customers, a price increase can be used effectively to ration supplies. 

Whatever form they take, price changes will almost always have an impact of some kind. 

Although suppliers, distributors and government may all be interested in your price 

changes for different reasons, the two key reactions are likely to be those of customers 

and competitors. 

 

4.14 Customer's Response 

 

If general conditions are good, you can usually increase your prices without too loud a 

howl from your customers; but in times of recession, your greatest concern is to maintain 

your market share. Then you will price not for profit, but to retain your customers. 

 

4.15 Response from Competitors 

 

A company thinking of changing it's prices must also consider how it's competitors are 

likely to react. Such reactions are especially important where: 

• There are few firms in the market and your own share is relatively large;  

• The product/services are relatively homogenous;  

• Customers are both discriminating and well-informed  

 

Complex strategy models can be developed to try to estimate how competitors are likely 

to react to price changes under different circumstances. Broadly speaking, the approaches 

are either statistical or conjectural. The statistical approach analyses how competitors 

have responded in the past on the assumption that they have a consistent price reaction 

policy. Unfortunately the problem with this is that firms do not always react logically. 

 

The conjectural approach , on the other hand, amounts to putting yourself in your 

competitor's shoes and estimating how you would react in the circumstances. To do this 

you need to find out as much about each of your competitors as possible. Are they 

pursuing a market share objective? If so they may well decide to match your price change. 

On the other hand, if they are trying to maximise profits, they may well respond to a price 
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reduction by taking action on another front such as spending more on advertising or 

improving product quality. 

 

How much profit are your competitors making? If you don't know then you should try to 

find out. You will then be in a much better position to judge how any price change will 

affect their profitability and how much freedom of action they actually have. Knowing 

whether or not your competitors can afford to enter a price war is something you should 

try to find out before you start one- not afterwards. 

 

4.16 Responding to Price changes by Others 
 

We have looked at the possible effects of initiating price changes - let us now consider the 

opposite question. How should we react to price changes made by competitors?.In some 

situations - in markets with near perfect competition and homogenous products - you may 

have little choice but to match a competitors price cut. Not to do so would probably mean 

losing most if not all of your sales. If on the other hand the competitor increases his price 

you must choose between fully or partly matching the rise or making no change at all. In 

doing this you must judge how the market as a whole is likely to react, as well as 

estimating the subsequent response of your competitors to your own actions. A refusal to 

increase your price may make the competitors reverse the original increase, so that an 

opportunity to raise overall profit margins may be lost. 
 

In markets with on-homogenous products, you have more freedom in deciding how to 

respond to a price change. Since price may be only one factor - albeit an important one - 

in determining buyer behaviours, you may decide to change other elements of the 

marketing mix, for example, by concentrating more on advertising, improving product 

quality or deliveries. 

 

The best approach is to consider the expected pay-off from adopting different responses. 

Start by trying to answer the following questions: 

• Why did the competitor change his price in the first place? Was it to raise his own 

market share? To utilise spare capacity? To off-set increased costs ?  

• Is the price change likely to be permanent or only temporary ?  

• What will happen to your market share and profitability if you do not match the price 

change ?  

• What are other competitors likely to do ?  
 

We do not pretend that there is a simple solution to this problem. However, a logical 

approach should pay dividends. Always try to put yourself in your competitor's shoes and 

estimate how he will respond to your own actions. The less firms there are in the market 

the more complex things can become, since each company’s actions have a greater effect 

on the position of others. A further problem is that decisions about responding to price 

changes will often have to be made quickly whereas the competitor who initiated the 

change may well have spent considerable time making this decision. 



Chapter 04 – Marginal Costing and Decision Making     

 

53

 

Chapter 4 

Marginal Costing and Decision Making 
 

 

This Chapter will cover the following areas 
 

1. Overview of Absorption and Variable Costing 

2. Introduction to Principles of Marginal Costing 

3. Break Even Analysis or Cost, Volume, Profit Analysis 
 

 

 

1. Overview of Absorption and Variable Costing 
 

Absorption costing is a method of costing that, in addition to direct costs, assigns all, or 

a proportion of, product overhead costs to cost units by means of one or a number of 

overhead absorption rates. . 

 

Variable costing (also known as Marginal Costing or Direct Costing) is an alternative 

method of costing to absorption costing. In marginal costing, only variable costs are 

charged as a cost of sale and a contribution is calculated which is sales revenue minus the 

variable cost of sales. Closing inventories of work in progress or finished goods are 

valued at marginal (variable) production cost. Fixed costs are treated as a period cost, and 

are charged in full to the income statement of the part of the accounting period in which 

they are incurred. 

 

The above difference in the two costing methods is clearly evident by the closing stock 

valuation done by the two methods, i.e. marginal costing values closing stocks at the 

variable cost of production whereas in absorption costing closing stocks are valued at full 

cost of production. 

 

Hence the fundamental difference between absorption costing and marginal costing is in 

the timing of it as in marginal costing fixed costs are written off in the period incurred. In 

absorption costing fixed costs are absorbed into units and written off in the period which 

the units are sold. As a result the profit under marginal costing is lower than the profit 

under absorption costing.  

 

An illustration of the format used to prepare profit statements under marginal and 

absorption costing is shown below. 
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Profit Statement - Absorption Costing 

 

                   

Rs.000's 

                 

Rs.000's 

Sales                      xxxxx 

Less: Full Cost   

Opening Stock xx  

Direct Materials xxx  

Direct Labour xx  

Direct Expenses x  

Fixed Overheads xx  

 Less: Closing Stock (x) (xxx) 

Profit  xxxxxx 

 

Profit Statement - Marginal Costing 

   Rs.000's                Rs.000's 

Sales  xxxxx 

Less: Full Cost   

Opening Stock xx  

Direct Materials xxx  

Direct Labour xx  

Direct Expenses x  

 Less: Closing Stock (x) (xxx) 

Contribution  xxx 

Less: Fixed Overheads  (xx) 

Profit  xxxxxx 
 

For example- in a period, 20000 units of Z were produced and sold. Costs and revenue 

were; 

                                                            Rs. 

Sales                                                                100,000 

 

Production costs                   

  Variable costs                                                 35,000                                   

  Fixed costs                                                      15,000 

 

Administration and selling overheads              25,000 

                                                        

Prepare operating statements based on absorption and marginal costing.  
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Absorption Costing Approach 

                                                                                       Rs.  

Sales                                                                              100,000 

Less  

Production and cost of sales                                          (50,000)   

Gross profit                                                                     50,000  

 

Less  

Administration and selling overheads                            (25,000) 

Net profit                                                                          25,000 

 

Marginal Costing Approach   

                                                                                        Rs.  

Sales                                                                               100,000 

Less  

Marginal cost                                                                  (35,000) 

Contribution                                                                     65,000 
 

Less  

Fixed costs   

 Production                                  15,000 

 Administration & selling            25,000                         

                                                                                          (40,000) 

Net profit                                                                            25,000 
 

In the above example since there is no closing stock the profit figure is the same. The key 

figure arising in the Marginal costing statement is the contribution of Rs. 65,000. The 

total contribution of Rs. 65,000 forms a pool from which fixed costs are met. Any surplus 

arising after fixed costs are met becomes the net profit.  
 

2. Introduction to Principles of Marginal Costing 
 

2.1 Definition and Meaning of Marginal Costing 
 

 

 

 

 

Marginal cost is the part of the cost of one unit of product or service which would be 

avoided if that unit was not produced, or which would increase if one extra unit were 

produced. Hence Marginal Costs usually comprise of extra materials used, additional 

labour hours worked, extra direct expenses incurred and other extra variable overheads 

incurred such as for selling and distributing the product or for general administration in 

the case of additional production. The term Marginal cost sometimes refers to the total 

Marginal costs of a department or batch or operation.  

This is the accounting system in which variable costs are charged to cost units and 

fixed costs of the period are written off in full against the aggregate contribution. 
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┼ Activity  
 

Select which of the following cost items can be classified as marginal costs and give 

your reasons. 

• Direct advertising expenses     

• Raw materials  

• Rent  

• CEO’s entertainment expenses 

• Machinery depreciation 

• Wages of packing staff who are paid on piece rate basis. 
 

 

2.2 Uses of Marginal Costing  
 

(a) As a basis for providing information to management for planning and decision 

making. It is particularly appropriate for short run decisions involving changes in 

volume.  

(b) Used as a routine cost accounting system for the calculation of costs and the 

valuation of stock.  
 

2.3 Contribution and Profit 
 

Contribution is 'Sales value less variable cost of sales'. Variable costs are all costs that 

vary with output and they include direct materials, direct labour costs and direct variable 

overheads. Contribution is actually the profits left for covering fixed overheads and the 

required profit margin. 
 

Profit on the other hand is ‘Sales value less all costs irrespective of them been fixed or 

variable’.  
 

┼ Activity  
 

AB Ltd sells Product Y for Rs.100. the product requires 5kg of direct materials at a 

total cost for Rs.25. The company pays its workforce at the hourly rate of Rs.10/hr and 

the company absorbs both variable overheads and fixed overheads on the basis of 

labour hours. The product Y requires 3 labour hours per product and the total Fixed 

Overheads for a production of 2000 units was Rs.10,000. The variable overhead rate 

for the product was Rs.2/labour hour. 

 

Calculate the Contribution and the Profit of product Y. 

 

Hint: To absorb fixed overheads first compute the fixed overhead rate per labour hour 

as that is the basis used by the company. Then multiply the fixed overhead rate per 

hour by the number of hours required for each product. 
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2.4  Main Features of Marginal Cost 
 

The principles of marginal costing are as follows. 

 

(a) Period fixed costs are the same, for any volume of sales and production (provided 

that the level of activity is within the 'relevant range'). Therefore, by selling an extra 

item of product or service the following will happen. 
 

• Revenue will increase by the sales value of the item sold. 

• Costs will increase by the variable cost per unit. 

• Profit will increase by the amount of contribution earned from the extra item. 
 

(b) Similarly, if the volume of sales falls by one item, the profit will fall by the amount 

of contribution earned from the item. The marginal costing philosophy is that profit 

measurement should be based on an analysis of total contribution. 
 

(c) Since fixed costs relate to a period of time, and do not change with increases or 

decreases in sales volume, it is misleading to charge units of sale with a share of 

fixed costs. Absorption costing is therefore misleading, and it is more appropriate to 

deduct fixed costs from total contribution for the period to derive a profit figure. 
 

(d) When a unit of product is made, the extra costs incurred in its manufacture are the 

variable production costs. Fixed costs are unaffected, and no extra fixed costs are 

incurred when output is increased. Supporters of marginal costing argue that the 

valuation of closing inventories should be at variable production cost (direct 

materials, direct labour, direct expenses and variable production overhead) because 

these are the only costs properly attributable to the product. 
 

(e) The total profit in a period is the total revenue minus the total variable cost of goods 

sold, minus the fixed cost of the period.  

                Revenue                                     x 

                Variable cost of sales               (x) 

                Contribution                              x 

                Fixed costs                               (x) 

                Profit                                         x 

 

2.5 Arguments For and Against Marginal Costing 
 

a) Arguments in favour of Marginal Costing 
 

o It is simple to operate. 
 

o There are no apportionments, which are frequently done on an arbitrary basis, of 

fixed costs. Many costs, such as the marketing director's salary, are indivisible by 

nature. 
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o Fixed costs will be the same regardless of the volume of output, because they are 

period costs. It makes sense, therefore, to charge them in full as a cost to the period. 
 

o The cost to produce an extra unit is the variable production cost. It is realistic to 

value closing inventory items at this directly attributable cost. 
 

o Under or over absorption of overheads is avoided. 
 

o Accounts prepared using Marginal costing more nearly approach the actual cash 

flow position.  
 

o Marginal costing provides more useful information for decision making.  
 

Note – the two important aspects in marginal costing are the breakeven point and the 

margin of safety which will be discussed later in this chapter.  
 

b) Arguments against Marginal Costing 
 

o Fixed production costs are incurred in order to make output; it is therefore 'fair' to 

charge all output with a share of these costs. 
 

o Closing Inventory values, by including a share of fixed production overhead, will be 

valued on the principle required for the financial accounting valuation of inventories 

as specified by the international accounting standard governing the valuation of 

inventories. 
 

o A problem with calculating the contribution of various products made by an 

enterprise is that it may not be clear whether the contribution earned by each 

product is enough to cover fixed costs, whereas by charging fixed overhead to a 

product it is possible to ascertain whether it is profitable or not. 
 

2.6  Marginal Cost Techniques and their Application 
 

Marginal costing techniques are used in the following circumstances: 
 

• To cost special one off projects 

• To decide between making products internally and buying externally 

• To choose among competing alternatives 

• In the presence of a factor that limits the production level of a company 

• To calculate Break - Even level of output 

• When employing Penetration or destroyer pricing strategy 

 

2.7 Limiting Factor Analysis 
 

Limiting factor analysis is used when the company is in short of some factor of 

production which may be raw materials, labour, limit to machine capacity and shortage of 

cash. If this is the case the company is unable to maximise profits hence it should be the 

case that the available quantity of resources which is short should be used in the most 

profitable manner. 
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In dealing with a limiting factor problem, following steps should be followed; 

• Identify that there may be a limiting budget factor other than sales demand. 

• Calculate the volume of resources required for the budgeted sales demand. 

• Calculate the volume of resources available. 

• Compare the two total if (b) exceeds (c), there is a limiting factor.  

• If there is only one such limiting factor, the next step is to calculate the 

contribution earned by each product per unit of the scarce resource. The products 

with the highest contribution per unit of scarce resource should receive priority in 

allocation of resources in the production budget.  
 

E.g. V Ltd manufactures 4 products. However the company’s labour hours are currently 

restricted to 35,000 hours. The Material Costs are RS.8/kg and Labour costs are Rs.7/hr. 

The information relating to the company’s 4 products are given below. 

 

                                                      W             X             Y             Z 

Selling price/unit                         175           210          245          280 

Demand for products                 4000          6000        5000        3000 

Material Usage/unit                       8              10            12             12 

Labour hrs/unit                               4               3              6               5 

Variable Overheads/unit                9              11              6               8 

 

Calculate how much of each product should be manufactured if the company is to 

maximise its profits. 

 

Contribution earned / product               W             X             Y             Z 

Selling price/unit                                  175           210          245          280 

Variable costs 

Material /unit                                        (64)           (80)         (96)         (96)       

Labour/unit                                           (28)           (21)         (42)         (35) 

Variable overheads/unit                         (9)            (11)           (6)          (8) 

              

Contribution /unit                                   74             98           101         141 

Contribution / labour hr used                18.5          32.67      16.83       28.20 

 

Ranking                                                    3               1               4             2 

 

Therefore the volume to be produced of each product will be; 

 

Available Labour Hours          35,000 

Hours required for product X  18,000 

                                                 17,000 

Hours required for product  Z  15,000 

                                                   2,000 
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Out of the remaining 2000 hours only 500 units of product W can be produced. The use 

of marginal costing has helped the company to choose the most profitable product mix to 

be produced from the available labour hours. 

 

┼ Activity  
 

Carry out a limiting factor analysis for the above V Ltd if only 150,000 kg of material 

are available ignoring the labour constraint.. 
 

 

2.8 Marginal Cost Pricing 
 

Basically the use of marginal cost as the basis for pricing is marginal cost pricing and is 

useful to the company in situations where the company is planning to accept a one off 

special project or if the company is planning to adopt penetration or destroyer pricing. 

When accepting a special order if the company has spare capacity the goods should be 

ideally priced at the marginal cost as the fixed costs can be covered by the normal 

production volume. However it must be made sure in a case like this other normal 

customers do not get to know of the special price for the one off project and the 

customers of the one off project have no way of selling the products for the company at a 

low price to other people. 
 

When a company wants to attract customers for a product the company can penetrate into 

the market by adopting a marginal cost pricing strategy as that is the incremental cost of 

making any product. Similarly if a company wants to gain market share at the expense of 

a competitor then they can practise destroyer pricing by selling their goods at the 

marginal cost of production as that is the lowest price at which one can sell a given 

product. 

 

┼ Activity  
 

MLL Ltd has a capacity to produce 10,000 units and currently it is producing only 

8000 units.  MLL Ltd was approached by Mr. D for a special order of 1000 units of the 

company’s product. Mr. D says the maximum price that he can pay is Rs.45/unit. The 

product requires material worth Rs.15, Labour worth Rs.10 Variable overheads worth 

Rs.5 and the total fixed overheads are absorbed to products at Rs.5/unit.  

 

Advice MLL whether they should accept D’s order or not. Currently they earn a 

contribution margin of 35% on its products calculate the difference in the selling prices 

and the profit margin between normal products and products of the special project. 
 

 

a) Marginal Cost-Plus Pricing 

Key term 

Marginal cost-plus pricing/mark-up pricing is a method of determining the sales price 

by adding a profit margin on to either marginal cost of production or marginal cost of 

sales. Whereas a full cost-plus approach to pricing draws attention to net profit and the 
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net profit margin, a variable cost-plus approach to pricing draws attention to gross 

profit and the gross profit margin, or contribution. 

Question  

E.g. A product has the following costs. 

Rs. 

Direct materials                       5 

Direct labour                            3 

Variable overheads                  7 

 

Fixed overheads are Rs 10,000 per month. Budgeted sales per month are 400 units to 

allow the product to break even. 

 

Required 

The mark-up which needs to be added to marginal cost to allow the product to break even 

is ...... %. 

Answer 

The correct answer is 1662/3%. 

 

Breakeven point is when total contribution equals fixed costs. 

At breakeven point, £10,000 = 400 (price – Rs 15) ∴ Rs 25 = price – Rs 15 ∴ Rs 40 = price ∴ Mark-up = ((40 – 15) /15) × 100% = 1662/3% 

 

2.9 Decision Making 
 

Marginal costing can be used to make different decisions by a company. Some of them 

are given below: 

 

a. Make or Buy Decision 
 

This is the case where the company is considering whether to buy the product 

from outside or to produce it internally. If the marginal cost of production 

internally greater than the selling price offered by the external party then the 

product should be bought externally and vice versa. 

 

b. Accept or Reject Decision 
 

This is similar to what was discussed under Marginal Cost Pricing. If an offer is 

made for a company’s product the company should only accept if the sales price 

offered is at least equal to the marginal cost of production. Also when there are 

competing alternative opportunities to choose from a company should always 

choose the option that maximises the contribution. However, in certain instances 

if the given option is loss making, still it is necessary to accept it to facilitate 

another more profitable venture.  
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c. Discontinuance 
 

A given product of a company should only be continued to produce if you can at 

least recover the marginal cost of production in the short term as in the long run 

any product should ideally contribute to fixed costs too. 

 

3.  Break Even Analysis or Cost Volume Profit Analysis 
 

Breakeven analysis or cost-volume-profit analysis (CVP) is 'The study of the effects on 

future profit of changes in fixed cost, variable cost, sales price, quantity and mix'. Break-

even analysis is a technique widely used by production management and management 

accountants. It is based on categorising production costs between those which are 

"variable" (costs that change when the production output changes) and those that are 

"fixed" (costs not directly related to the volume of production). 

 

Total variable and fixed costs are compared with sales revenue in order to determine the 

level of sales volume, sales value or production at which the business makes neither 

a profit nor a loss (the "break-even point"). 

 

Requirements of break- even analysis 

 

• Costs can be classified as either fixed or variable 

• Unit sales price has remained constant 

• The relationship between costs and revenues are known 

• Can only apply to one product or constant mix 

• Fixed costs same in total and unit variable costs same at all levels of output 

• Production = Sales 

 

3.1 Break Even Point 

 

Break even point is the point where the business makes neither a profit nor a loss and the 

point where the business recovers all its costs. 

 

Breakeven Point (units)  =   Total Fixed Cost 

                                             Contribution per unit 

Contribution per unit       =   unit selling price – unit variable costs 

 

Breakeven Point (sales revenue)   =   Total Fixed costs 

                   C/S ratio 
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3.2 Contribution/Sales Ratio (C/S) 

 

It is the percentage relationship between contribution and sales. Shows how much of 

contribution is earned per Rs. 1/= of sales revenue earned. A higher C/S ratio means 

contribution grows more quickly as sales levels increase.  

 

Contribution/sales (C/S) ratio = profit/volume (P/V) ratio = (contribution/sales) × 100% 

 

3.3 Margin of Safety (MOS)  

 

Margin of safety (in units) = budgeted sales units – breakeven sales units 
 

This is the difference between the budgeted units of sales volume and the break even 

level sales volume. It indicates how much sales may decrease before a company will 

suffer a loss. The larger the MOS the more likely it is that a profit will be made. The 

MOS should be expressed as a % of projected sales to put it in perspective.  

   

Margin of safety (as %) = Budgeted Sales- Breakeven Sales  * 100 

         Budgeted Sales 

 

3.4 Sales Volume for Target Profit Calculation 
 

Sales volume to achieve a target profit = Total Fixed Cost + Target Profit 

                                                                           Contribution per unit 

 

The above formula is used to see the sales volume to be achieved if one is to incur a given 

profit. 

 

┼ Activity  
 

Company A hopes to sell 15,000 units of its product H in this year. The fixed costs for 

the period are Rs.50,000. The product has a market price of Rs.150. Product H incurs 

materials worth Rs.30,  2 labour hours @ Rs.10 each/hr and other expenses directly 

related to production of Rs.15/unit.  
 

Calculate 

1. Break even point in terms of units and sales revenue 

2. Margin of safety 

3. Sales Volume to be achieved if Company A wants a target profit of 

Rs.1,500,000. 
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3.5 Breakeven Charts 
 

• Traditional / Conventional Break Even chart 

 

                                                                               Sales revenue 

Rs.  

                                                                Profit 

 

                                    

 

                                          breakeven   Variable costs 

           Total costs              point                      

                                                                      

                                       Margin of            Fixed costs   

                                       safety 

                                                               Number of units 

 

The above conventional break-even chart plots total costs and total revenues at different 

output levels. 

 

The above graph is constructed by: 

(a) Plot the fixed costs as a parallel line to the horizontal axis. 

(b) Plot the sales revenue and total costs as straight lines from the origin. 

 

The chart is usually drawn for budgeted sales volume and the point where the costs cross 

the sales revenue is the break even point. Gap between the total cost line and the fixed 

cost line represent the variable cost. The x axis shows sales units and y axis represent 

both costs and revenues. 

 

• Contribution Break Even chart 
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The Contribution Break- Even Chart is very similar to the Break- Even Chart. Only 

difference is that Variable cost line is drawn instead of a fixed cost line to facilitate easy 

reading of the contribution figures. The x axis shows sales units and y axis represent both 

costs and revenues. 

 

One problem with the conventional break even chart is that it is not possible to read 

contribution directly from the chart. Contribution break even chart is based on the same 

principles but it shows the variable cost line instead of the fixed cost line.  

 

• Profit Volume Chart 

 

 

 

 

 

 

 

 

 

 

 

 

 

This chart is different to the above two graphs as this graph shows the profit or loss 

earned at each activity level. The point at which there is no profit and loss is the Break-

even point. The x axis depicts the sales in units /revenue whilst the y axis shows net 

profit/loss earned/incurred. 

 

┼ Activity  
 

Discuss the usefulness of the above charts to a company’s management accounting 

division. 
 

 

3.6 Advantages and Limitations of Break – Even Analysis 

 

a) Advantages  

a. Graphical presentation of costs and revenues can be more easily understood by 

non-financial managers. 
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b. A Breakeven model enables the determination of profit or loss at any level of 

volume within the range for which the model is valid, and the C/S ratio can 

indicate relative profitability for different products. 

c. Highlighting the Breakeven point and MOS gives managers some indication as to 

the level of risk involved and as such is an aid to production and sales.  

 

b) Limitations 

 

a. Break even charts only relate to a single product. 

b. It is assumed that all production is sold which does not happen in practise. Sales 

revenue is assumed to be constant for each unit sold. This may be unrealistic 

because of the necessity to reduce the selling price to achieve higher sales 

volumes. 

c. All the costs are taken to be linear. Unit variable costs are assumed to remain 

constant and fixed costs are assumed to be unaffected by changes in activity levels.  

d. It is assumed that activity is the only factor affecting costs, and factors such as 

inflation are ignored.  

 

3.7 Impact of Selling Price, Fixed Costs and Variable Costs on Profit Volume Ratio 

 

If the Sales price increase PV Ratio increases because contribution increases by a higher 

percentage than the sales price. If variable costs increase the PV Ratio decreases as the 

contribution decreases. Fixed costs do not have an impact on PV Ratio as it does not form 

a part of PV Ratio. These can be illustrated in graphical format as shown below. 

 

Impact of increase in sales revenue for profit volume ratio. 

     

Costs and  

Revenues 

 

 

      

     

 

 

 

 

                                                                                                           Output 

Sales Revenue 1 

Variable Cost 

Sales Revenue 2 

 

C1 
Sal

es 

C2 
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C1 and C2 are contribution 1 and 2 before and after revision to the sales revenue. 

 

┼ Activity  
 

Draw graphs to show the effect of changes to the variable cost and fixed costs on the 

PV ratio. 
 

 

┼ Practice Questions 
 

Q1 - Limiting Factors.  

The following standard data is available; 

                                                                                                Product 

                                                                                 P                                Q 

Direct materials per unit                                          Rs. 10                       Rs.  30 

Direct labour    

                                                     Rate per hour                     No. of hours 

 Grinding                                      Rs. 5.00                7 hrs                         5 hrs 

 Finishing                                      Rs. 7.00              15 hrs                         9 hrs 

 

Selling price per unit                                                Rs. 206.50                 Rs. 168 

Budgeted production                                                1,200 units                 600 units 

Max. sales for the period                                          1,500 units                 800 units 
 

Notes: 

a) No closing stocks are anticipated. 

b) The skilled labour used for the grinding process is highly specialised and in 

short supply, although there is sufficient to meet the budgeted production. 

However, it will not be possible to increase the supply for the period.  
 

Required: 

Prepare statement showing the total contribution that could be obtained if the best use 

was made of skilled grinding labour.  
 

Q2 

A company produces 03 products and is reviewing the production and sales budgets for 

the next accounting period.  
 

Product                                                     x                          y                   z 

Contribution per unit                             Rs. 12/=               Rs. 10/=         Rs. 6/= 

Machine hours required per unit            06 hrs                  02 hrs             01 hr 

Estimated sales demand                         200 units             200 units         200 units 

Required machine hours                        1200 hrs              400 hrs            200 hrs 
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Machine capacity is limited to 1200 hrs. and is insufficient to meet total sales demand. 

You have been asked to advice as to which product should be produced during the 

period.                                        
 

Breakeven  

A marketing company of shoes has prepared the following forecast for the next year.  

 

Pairs of shoes to be sold                                              24,000 

Average selling price per pair                                           Rs. 40.00 

Average cost per pair (variable costs only)                       Rs. 25.00 

Staff cost for the year                                                         Rs. 90,000 

General office cost for the year                                          Rs. 150,000 

 

Required: 

a) Calculate the Breakeven point in pairs of shoes to be sold, and margin of safety. 

b) Prepare a Breakeven graph which indicate the Breakeven point. 

c) Give three advantages and three limitations of Breakeven analysis. 

 

Q3 - Make or buy decisions 

 

A company is considering alternatives of either purchasing a component from an 

outside supplier or producing the component in-house. The estimated costs to the 

company of producing the component are as follows: 

                                                                Rs.  

Direct labour                                          100 

Direct material                                       300 

Variable overhead                                    50 

Fixed overhead                                       100 

                                                                550  

 
The outside supplier has quoted a figure of Rs. 500 for supplying the component. 

Should the company buy or make the component? 
 

 

♪  My Short Notes  
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Chapter 5 

New Trends in Costing 
 

This chapter will cover the following areas: 
 

1. An Overview of the Just In Time System 

2. Use of ABC Costing Techniques 

3. Application of ABC Costing to Marketing Scenarios. 
 

 

1. An Overview of Just-in-time (JIT) systems 
 

1.1 Understand the Aims and Objectives 
 

JIT system was developed in Japan, notably at Toyota.  

 

JIT aims for zero inventory and perfect quality and operates by demand-pull. It consists 

of JIT purchasing and JIT production and results in lower investment requirements, 

elimination of non value adding activities, space savings, greater customer satisfaction 

and increased flexibility. 
 

'Traditional' responses to the problems of improving manufacturing capacity and reducing 

unit costs of production might be described as follows. 
 

• Longer production runs 

• Economic batch quantities 

• Fewer products in the product range 

• More overtime 

• Reduced time on preventive maintenance, to keep production flowing 

 

In general terms, longer production runs and large batch sizes should mean less disruption, 

better capacity utilisation and lower unit costs. 

 

Just-in-time systems challenge such 'traditional' views of manufacture. 

Key terms 

Just-in-time production is 'A system which is driven by demand pull basis and seeks to 

eliminate waste for finished products whereby each component on a production line is 

produced only when needed for the next stage'. 
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Just-in-time purchasing. This seeks to match the usage of materials with the delivery of 

materials from external suppliers. For JIT purchasing to work satisfactorily it requires the 

following; 
 

a) Confidence that suppliers will deliver exactly on time. 

b) The suppliers will supply 100% quality so that there will be no rejects. The 

company must build up close relationships with their suppliers.  

 

JIT purchasing can be further extended to sales and distribution. For example the super 

market stores in the USA have implemented JIT purchasing for most of their goods. One 

popular item would be fro baby pampers which takes lot of space to store. The suppliers 

are linked to the store’s inventory system and they are given a minimum level to supply 

as and when the shelves become empty. 

 

JIT becomes very effective if the super market chain has the competitive edge. That is it 

is very difficult to get shop shelve space in reputed stores as there are lots of suppliers. 

Therefore if the supplier wants to do continuous business with the store they have to 

supply their goods on time with quality. JIT system once implemented becomes very 

effective on the supply chain management of the super market chain. 

 

A company which adopts JIT purchasing concentrates on dealing with fewer suppliers 

who can provide high quality and reliable deliveries. The improved service is obtained by 

giving more business to fewer suppliers and placing long term purchasing orders. 

Suppliers are normally located close to manufacturing plans, super markets etc. 

 

Further, in a distribution company who accepts orders over the phone could link the 

supplier and the customer. For example household items like TV’s, fans, refrigerators etc. 

Here the supplier will directly deliver it to the customer.  

 

JIT is more of a philosophy or approach to management since it encompasses a 

commitment to continuous improvement and the search for excellence in the design 

and operation of the production management system. 

 

1.2 The Main Features of JIT 

 

JIT has the following essential elements: 

Element Detail 

JIT purchasing: Parts and raw materials should be purchased as near as possible to the 

time they are needed, using small frequent deliveries against bulk contracts. 
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Close relationship with suppliers: In a JIT environment, the responsibility for the 

quality of goods lies with the supplier. A long-term commitment between supplier and 

customer should therefore be established: the supplier is guaranteed a demand for his 

products since he is the sole supplier and he is able to plan to meet the customer's 

production schedules. If an organization has confidence that suppliers will deliver 

material of 100% quality, on time, so that there will be no rejects, returns and hence no 

consequent production delays, usage of materials can be matched with delivery of 

materials and inventories can be kept at near zero levels. Suppliers are also chosen 

because of their close proximity to an organisation's plant. 

 

Uniform loading: All parts of the productive process should be operated at a speed 

which matches the rate at which the final product is demanded by the customer. 

Production runs will therefore be shorter and there will be smaller inventories of finished 

goods because output is being matched more closely to demand (and so storage costs will 

be reduced). 

 

Set-up time reduction: Machinery set-ups are non-value-added activities which should 

be reduced or even eliminated. 

 

Machine cells: Machines or workers should be grouped by product or component instead 

of by the type of work performed. The non-value-added activity of materials movement 

between operations is therefore minimised by eliminating space between work stations. 

Products can flow from machine to machine without having to wait for the next stage of 

processing or returning to stores. Lead times and work in progress are thus reduced. 

 

Quality: Production management should seek to eliminate scrap and defective units 

during production, and to avoid the need for reworking of units since this stops the flow 

of production and leads to late deliveries to customers. Product quality and production 

quality are important 'drivers' in a JIT system. 

 

Pull system (Kanban): A Kanban, or signal, is used to ensure that products/ components 

are only produced when needed by the next process. Nothing is produced in anticipation 

of need, to then remain in inventory, consuming resources. 

 

Preventative maintenance: Production systems must be reliable and prompt, without 

unforeseen delays and breakdowns. Machinery must be kept fully maintained, and so 

preventative maintenance is an important aspect of production. 

 

Employee involvement: Workers within each machine cell should be trained to operate 

each machine within that cell and to be able to perform routine preventative maintenance 

on the cell machines (i.e. to be multi skilled and flexible). 
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 1.3 Changes Required for Implementation of JIT 
 

•   There must be full employee involvement. For example 60,000 employees of Toyota 

produced a total of 2.6 million improvement suggestions per annum. In most cases, 

after line management approval, the working groups simply get on with implementing 

their ideas. In JIT, there is a never ending search for improvements.  

 

•   The production process must be shortened and simplified. Each product family is 

made in a work-cell based on flow line principles. JIT increases the variety and 

complexity within work cells. This requires workers to be more flexible and adaptable.  

 

•   Using JIT, the emphasis on ‘doing the job right the first time’. Thus avoiding defects 

and reworking. JIT systems require quality awareness programmes, statistical checks 

on output quality and continual worker training.  
 

• Close relationships with suppliers and customers have to be maintained hence 

implementation of an electronic data interchange with customers and suppliers should 

be in place. 
 

• Co-operation of workers is very important when hours and hours of training are to be 

given at the implementation stage. 
 

• Performance measures will have to be redesigned to suit JIT practises such as days of 

inventory, knowledge and capability based promotion, ideas generated and 

implemented, total head count productivity, customer complaints etc. 
 

• Alternative control techniques should be designed in place of traditional variance 

analysis as JIT is concerned about supplier reliability, material quality, short lead 

times etc. 
 

• New Costing techniques such as Activity Based Costing have to be used in place of 

traditional Absorption costing techniques. 

 

• Proper information systems should be implemented to obtain all the necessary 

information for the smooth running of the JIT System. 

 

1.4 Benefits in Adaptation of JIT 

 

The key benefit offered by JIT is the increase it can generate in production efficiency 

and your competitiveness. These result from the elimination of waste - of time, raw 

materials and other resources. 
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Implementing just-in-time production can: 

• Prevent over-production  

• Minimise waiting times and transport costs  

• Save resources by streamlining your production systems  

• Reduce the capital you have tied up in stock  

• Space savings from the reduction in inventory and improved layouts.  

• Decrease product defects and reduction in obsolete stocks 

•     Reduced operating costs  

• Greater performance and throughput  

• Reduced paper work 

• Improved delivery  

• Increased flexibility and innovativeness  

 

2. Use of Activity Based Costing (ABC) Techniques 

 

Traditional costing systems, which assume that all products consume all resources in 

proportion to their production volumes, tend to allocate too great a proportion of 

overheads to high volume products (which cause relatively little diversity and hence use 

fewer support services) and too small a proportion of overheads to low volume 

products (which cause greater diversity and therefore use more support services). 

Activity based costing (ABC) attempts to overcome this problem by relating support 

overheads to products, not by production volume, but by a number of specific factors 

known as cost drivers. A cost driver is an activity which causes costs. The following are 

some typical cost drivers and the costs which the activity influences (or drivers) 

  

Examples of cost drivers Typical costs driven by cost drivers 

Number of production runs Inspection, production, planning and 

scheduling, set up, tooling.  

Number of despatches  Despatch department, invoicing etc. 

Number of purchase orders Purchasing department, stock holding etc. 

Number of engineering changes Technical department, production, 

planning, stock holding etc.  
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Nowadays, however, with the advent of advanced manufacturing technology (AMT), 

overheads are likely to be far more important and in fact direct labour may account for 

as little as five per cent of a product's cost. It therefore now appears difficult to justify the 

use of direct labour or direct material as the basis for absorbing overheads or to believe 

that errors made in attributing overheads will not be significant. Many resources are used 

in non-volume related support activities, (which have increased due to AMT) such as 

setting-up, production scheduling, inspection and data processing. These support 

activities assist the efficient manufacture of a wide range of products (necessary if 

businesses are to compete effectively) and are not, in general, affected by changes in 

production volume. They tend to vary in the long term according to the range and 

complexity of the products manufactured rather than the volume of output. The wider the 

range and the more complex the products, the more support services will be required. 

 

Consider, for example, factory X which produces 10,000 units of one product, the Alpha, 

and factory Y which produces 1,000 units each of ten slightly different versions of the 

Alpha. Support activity costs in the factory Y are likely to be a lot higher than in factory 

X but the factories produce an identical number of units.  

 

For example, factory X will only need to set-up once whereas Factory Y will have to set-

up the production run at least ten times for the ten different products. Factory Y will 

therefore incur more set-up costs for the same volume of production. 

 

2.1 Outline of an ABC system 

 

An alternative to the traditional method of accounting for costs - absorption costing - is 

activity based costing (ABC). ABC involves the identification of the cost drivers which 

cause the costs of an organisation's major activities. Support overheads are charged to 

products on the basis of their usage of an activity. 
 

The definition of ABC 

Key term 

Activity based costing (ABC) – cost attribution to cost units on the basis of benefit 

received from indirect activities. For example ordering, setting up, quality.  

 

The major ideas behind activity based costing are as follows. 

 

(a) Activities cause costs. Activities include ordering, materials handling, machining, 

assembly, production scheduling and despatching. 
 

(b) Producing products creates demand for the activities.  
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(c) Costs are assigned to a product on the basis of the product's consumption of 

the activities. 

 

2.2 The Mechanics of an ABC system 

 

An ABC system is developed and used as follows. 

 

Step 01 

• Identify an organisation's major activities. 

 

Step 02 

 

• Identify the factors which determine the costs of an activity which are known 

as cost drivers. 

 

Step 03 

 

• Collect the cost of each activity. These are known as cost pools and are similar to 

conventional cost centres. 

 

Step 04 

 

• Change support overheads to products on the basis of their usage of the activities, 

expressed in terms of cost driver(s).  

 

Example 

 

Total cost of purchasing                                Rs. 200,000 

Number of purchase order                            1,000 (chosen cost drivers) 

Therefore products would be charges           Rs. 200/= for each purchase order.  

 

Assume a batch needs 03 purchase orders to be made.  

 

Therefore purchasing overheads = 3xRs200 = Rs. 600/= 

 

For those costs that vary with production levels in the short term, ABC uses volume 

related cost drivers such as labour or machine hours. The cost of oil used as a lubricant 

on the machines would therefore be added to products on the basis of the number of 

machine hours, since oil would have to be used for each hour the machine ran. 
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┼ Activity  
 

Discuss some of the cost drivers that can be used by a company that wished to launch a 

new product  

 

 

Note:- ABC can be extended to ‘activity based budgeting’ and ‘activity based 

management’, with implications not just for production, but also for product development, 

marketing and sales, and for behavioural issues.  

 

  E.g. X Ltd makes a product called 'VIV' and its cost details are as follows. 

        

      Material Cost                                             Rs.10 

      Labour Cost                                               Rs.20 

      Total Production for the coming year       1,000,000 units 

      No of Production runs                                50 

      No of Purchase Orders required                 50 

      No of customer orders                                10 

      Unit machine time                                      3 minutes 

      Every product run is inspected. 

 

     The Indirect Costs of X Ltd is as follows 

 

    Quality Control                             Rs.   900,000 

    Process set up                                Rs.1,350,000 

    Purchasing                                     Rs.1,105,000 

    Customer Order Processing          Rs. 1,200,000 

    Occupancy Costs                           Rs.1,500,000    

                                                           Rs.6,055,000 

         

 X Ltd has identified the following cost drivers 

• 450 inspections 

• 450 set ups 

• 1000 purchase orders 

• 2000 customers 

• 75000 machine hours 

 

Calculate the standard cost of VIV in line with ABC principles and in terms of traditional 

costing systems if the original base used was machine hours. 
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Step 1 cost per cost driver for an activity level of 1,000,000 units. 

 

Function  Cost driver Cost per cost driver For 1,000,000 units 

Quality control Inspections 900,000/450 =2,000 2000 x 50 =100,000 

Process set up set ups 1,350,000/450=3,000 3000 x 50 =150,000 

Purchasing purchase 

orders 

1,105,000/1000=1,10

5 

1105 x 50 = 55,250 

Customer Order 

Processing 

customers 

 

1,200,000/2000=600 600 x 10  =   6,000 

Occupancy Costs machine 

hours 

1,500,000/75000= 20 20  x 50,000 

=1,000,000 

Total 1,311,250 

 

Note : In the above no cost pools were identified as every activity has a separate cost 

driver. 
 

Step 2 Charge the indirect costs to the product 'VIV' 
 

          Total Overhead Cost for 1,000,000 units = Rs.1,311,250 
 

             Hence Cost per unit  = Rs.1,311,250       = Rs.1.31 

                                                          1,000,000 units 
 

Step 3 Standard Cost per unit of VIV in line with ABC principles. 
 

           Materials        Rs.10.00 

           Labour            Rs.20.00 

           Overhead        Rs.  1.31 

           Total Cost       Rs.31.31 

 

Standard Cost per unit of VIV (in line with traditional costing principles) 
 

Overheads per machine hour = Total Overheads   =  Rs.6,055,000/75,000 hrs 

                                                    Machine Hours 

                                                                                =  Rs.80.73/hr 
 

Overheads per product which uses 3 minutes        =  (Rs.80.73/60) x 3 = Rs.4.04 

 

Hence Total Standard Cost of the product is: 

            Materials       Rs.10.00 

           Labour            Rs.20.00 

           Overhead        Rs.  4.04 

           Total Cost       Rs.34.04 
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2.3 Advantages of Activity Based Costing 

 

• This provides a more accurate version of a product's cost structure thus enabling a 

company to price its products accurately. 

• ABC enables correct commitment of resources to products due to its capability of 

showing the most profitable product mix. 

• This method help to identify the value added and non-value added activities so that 

non-value added activities could be appraised properly with a view to elimination. 

• The ABC method enables in depth understanding of cost causation - why, where and 

when costs occur. 

• It helps to direct management's focus on improving the efficiency of high cost 

activities as one attempt to increase the bottom line of the companies as ABC 

increases the visibility of activities performed by a company. 

 

ABC is a suitable system to be used by a company if it has one or more of the 

following features. 

 

• Indirect costs are significant in proportion to direct costs of a company. 

• Goods are complex, requiring many inputs and processes. 

• Simple, high volume products perform more poorly than complex low volume 

products. 

• Different departments believe costs are assigned inaccurately. 

• The company looses bids it thought were low and wins bids it thought were high. 

• Operations have changed significantly but the costing system has not changed. 

 

┼ Activity  
 

D Ltd a toy manufacturer produces a product by the name 'KIKU' at a production cost 

of Rs.40/unit which is sold to three major toy retailers X Ltd, Y Ltd and Z Ltd which 

demand the product in quantities of 10,000 each. D LTD makes the sales at Rs.75/unit. 

 

Non Production Overheads of D Ltd are: 

 

Delivery                   Rs.180,000 

Inspections               Rs.200,000 

After Sales Service  Rs.150,000 

Maintenance             Rs. 60,000 

 

Overheads were previously assigned based on Machine Hours which usually is around 

15,000 hours. The Management Accountant is now keen to introduce ABC principles 

to the company, as she believes it will provide a realistic view of efficiency of cost 

activities within D Ltd. She has identified the activity volumes for the three customers 

as follows: 
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Customer                    X                Y             Z 

No of Deliveries       2500            50           12 

No of Inspections    10000           500         1000 

After Sales Visits       200            100           50 

Machine hours         5000           5000         5000 

 

Calculate the profit or loss made by selling to X,Y and Z under both traditional and 

ABC costing methods. 
 

 

3. Application of ABC Costing to Marketing Scenarios 

 

Activity based costing could be used to cost any marketing activities. The following are 

some situations where marketers could use ABC costing for marketing purposes.  

 

• Product costings for pricing purposes. 

• Costing for a new product that has never been sold before – Totally innovative 

products 

• Costing for a marketing event 

• Costing for a marketing campaign 

• Costing to identify the feasibility of a new distribution operation 

 

┼ Activity   
 

Assume that you have been requested to organise a corporate hospitality event to reward 

the best selling dealers at the forth coming national dealers convention. This event will 

happen right after the main event. Cost the event based on ABC costing techniques.  
 

 

The following are two examples of how ABC costing could be used to support marketing 

activities.  
 

Case - ABC Costing to optimize pricing  

Many large businesses have purchased and installed price optimization software that 

helps them determine the costs of their products and services and computes the optimum 

prices to charge customers and clients. Small retail businesses are now considering this 

software as an aid in competing with giant competitors such as Wal-Mart. Small and 

mid-sized businesses can achieve the same benefits of price optimization software by 

using activity-based costing (or ABC).  

ABC is a costing method developed in the 1980s to help large industrial firms improve 

their product costing and business processes, enabling them to compete against their 

lower-priced competition. ABC involves analyzing the activities and processes that are 

required in order to accomplish the objectives of a firm and then assigning supporting 

overhead costs to those objectives in a rational manner, allowing you to compute the real 

cost of producing, selling, and delivering products and services. 
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An ABC analysis lets us prepare a recipe or ‘bill of materials’ for a client’s goods and 

services so that you can see their revenue and costs by product or service, customer or 

client, and the level of support required. ABC can identify the 20% of customers that are 

responsible for 80% of the profit of most businesses. This will provide all of the price 

optimization information that many businesses need—at a reasonable cost and without 

the implementation problems of price optimization software.” The firm keeps costs 

down for an ABC analysis for small to mid-sized businesses by using Excel spreadsheets 

instead of price optimization software. 

For companies that decide to implement price optimization software, activity-based cost 

analysis prior to implementation. Will enable you to get a good “baseline” of cost 

information to enter into the price optimization software.”  

 

 

How Service’s Marketing can use ABC 
 

Many businesses have adopted activity-based costing (or ABC) during the last decade. 

In the past, most of the companies implementing ABC were manufacturing-related, so 

there seems to be an idea that ABC is only useful to manufacturing businesses. It’s clear 

to us that service businesses can realize the same benefits from it as manufacturers. All 

businesses need to understand their true costs, which include the support required to sell 

and deliver goods and services. Support costs are a large part of the cost of some 

manufactured items. Support costs can vary for many reasons, and ABC is very useful in 

making sure that costs are adequately considered in the pricing decision.”  

In an ABC study, we identify the major activities a business conducts and determine the 

level of service and support required. We categorize support costs according to the 

appropriate activities benefited, and then assign costs to activities & among activities. 

Finally, we assign the accumulated activity costs to cost objectives. 

There are numerous benefits derived from using ABC. ABC helps you to better 

understand the business cost structure, which leads to better bidding, budgeting, and 

estimating. ABC also allows you to compute product line profitability and customer 

profitability, which permits you to make better decisions about your sales ‘mix’ and 

marketing efforts. ABC helps you set up a price structure that charges customers and 

clients according to the support required for their particular situation. We call it ‘just in 

time’ pricing. Finally, when a business fully adopts ABC, it serves as a vehicle for cost 

reduction, business improvement, reengineering, and change management.” 

When identifying businesses that can benefit from ABC, organizations undergoing 

changes that haven’t yet been incorporated in their cost structure are prudent. Adoption 

of new technology, changes in contracts, new products or services, new or tougher 

competition, you name it—anything that has changed about the business that hasn’t been 

reflected in its cost structure makes it a good candidate for activity-based costing.” 

About 10 years ago, we heard predictions that only a couple of companies that were the 

lowest cost providers would survive in most lines of business. It appears that we are now 

at that point—and this includes service businesses as well. No one who is serious about 

their business now can afford to ignore the benefits to be derived from activity-based 

costing. 
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Chapter 6 

Costing Marketing Activities 
 

This chapter will cover the following areas: 
 

1. Costing of Marketing Activities  
2. Budgeting and Profit Planning. 
 

 

1. Costing of Marketing Activities 
 

In costing marketing activities one will have to consider the details as presented in the 

situation and would require taking it forward. This section will be discussed based on 

several cases. Cost each of the cases as specified in the requirements.  
 

Case Scenario – 01  

Costing New Product Development – Case Adopted from Tetra Pack and Modified 

 

Tetra Pak, the leader of the Pack  

 

The Tetra Pak was invented in the fifties by the Rausing brothers’ father, Ruben. It is 

now found in every fridge across the developed world; the first package to be launched 

in the UK was Tetra Classic, a tetrahedron shape which now holds the Lovely Jubbly 

brand.  Its biggest UK customers are major fruit juice manufacturers such as Del Monte 

and Gerber, which makes own label products for major super market  groups, plus large 

UK diaries like St Ivel. Tetra Pak has a couple of rivals. i.e. the Nowegian firm Elo 

Pack, and Bowater-owned Combibloc. But they are minor irritants to a player, which 

dominates the market.   

 

Tetra Pak sales topped 6bn pounds last year, and earned an average 10% profit turn 

over. The company is concerned with the laminated board and the technology used to 

make the milk and fruit containers. The sales figure puts the company on level with 

Marks and Spencer, except Tetra Pak is a one-product company.  

 

Its headquarters is based in Heathrow airport, demonstrate more than any balance sheet 

just how successful he company is. Based in Sweden, it has a presence in 117 countries, 

which are divided in to regional sales centers. There are approximately 45 regional 

centers, which over looks all communications aspects of the company. Tetra Pak, 

employees over 16,00 people. It delivers over 68 billion cartons per year.  

The company is low profile and sees it self as being in the “business of running a 

business”.  
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Germany and Australia markets are peculiar, in that both countries have powerful 

environmental and ecological movements that have raised Tetra Pak’s profile by 

questioning its environmental record. As a result Tetra Pak Germany has been pressured 

to communicate directly with the consumer through advertising and the sponsorship of 

football clubs and matches. “ We need to position our selves and our packaging as 

environmentally friendly”, explains, Zachariasson. Competition is also intensifying, 

stemming from direct rivals like Elo Pak and a far greater threat from glass and plastic 

bottle products. 

 

The company has been criticized for being slow to react to consumer demands, and for 

the infamous tendency of Tetra Pak’s tendency to spill their contents. The solution to 

this is a plastic lid. The company accepts that to has been “ slow to innovate, but these 

innovations cost money, and our aim is to maintain our position as a low cost operator “. 

But perhaps the time has come for us to play the game right or other wise we will upset 

our customers.” Tetra Pak is now slowly realizing that there’s an audience beyond its 

direct customers. The firm has introduced another carton opening called” RECAP”.  

 

Unusually for the company, it has singled out a customer SmithKline Beecham, and 

allowed it to use RECAP before its rivals get the opportunity. Using a piece of 

innovation as a marketing tool is a first for Tetra Pak. The company also has created a 

slim line carton to differentiate product on supermarket shelves. Tetra Pak comments 

that they will be talking to he consumer more in the future and will continue to 

introduce innovative product to the market.  

 

You have the newly appointed marketing assistant for Tetra Pack and will be actively 

involved in marketing the brand in Germany and Australia for the next 12months.  

The company had decided to open a new retail outlet, which has been set up to create 

awareness amongst the primary and the secondary audiences about the Brand. If this 

exercise proves to be successful, the retail outlets will be set in other parts of the world 

as well.   

Memo 

 

From :  Regional Innovation Manager 

 

To     :   Marketing Manager 

 

Subject :Development of new   P-Tech RECAP 

 

In lieu of the constant complains received by our world wide operations on spillage, the 

global innovation team has decided to initiate the global P-Tech Recap innovation 

program.  An over view of the project is as follows.Project P-Tech Recap is a unique 
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innovation opportunity where the plastic technology is incorporated into the tetra pack 

technology where the product could be  stored after first time usage. The present 

technology only allows one time use thus storage becomes a complicated issue.  

 

The initial product development fixed cost would be 10 million sterling pounds. Other 

than this a one time fixed country adaptation cost of 100,000 sterling pounds is 

envisaged. The following is the tentative country roll out plan with the forecasted sales 

quantities.  

 

Country Forecasted  sales 

quantity (in units)  

during first year 

Forecasted sales 

growth %in year 2 

Forecasted Sales 

growth % in year 3 

Germany 750,000 10% 10% 

France 800,000 10% 10% 

UK 1,200,000 20% 15% 

Belgium 250,000 10% 15% 

Denmark 500,000 10% 15% 

 

The suggested selling price of one unit is euro 9.45 across all countries. The Production 

variable cost would be euro 3.78 and the marketing variable cost would be 1.89 euro. 

 

1 sterling is 1.89 euro.  

 

Required  

 

Situation 01  

 

What is the minimum quantity that tetra pack should sell to recover the total cost from 

this new project. 

 

Situation 02  

 

By the end of the 3rd Year what would be total profits/loss that would be incurred by the  

project. Comment whether this project is financially viable.  

 

Situation 03  

 

If you allocate the total fixed costs equally across the countries, calculate the breakeven 

volumes and profit/loss situations after 3 years. Write a report to the innovation manager 

of tetra pack on your findings 
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Case Scenario – 02 

Costing a Promotional Scheme  
 

Ten years ago, Agro-cars were founded by Mr X importing popular Japanese cars from 
Toyota directly to Sri Lanka. In order to distribute these cars across the country it 
appointed dealers in many parts of the Island.   
 
Agro cars do not sell vehicles directly but users their retailers who sell to the public. 
Over thirty dealers are appointed over 9 districts where certain districts have been 
divided based on sales potential. The actual sales for year 2004/05 are included in the 
following table, together with projected sales increases for 2006. The total ad spend of 
each retailer is also shown.  
 
Table   

District  Retail Outlets Outlets’ Ad 
spend in Rs  

Sales 
2004/05 

% Sales 
increase 2006 

Western 01 11 15,000,000 1,000 5 

Western 02 4 3,000,000 250 10 

Central  3 3,400,000 200 5 

North Central  2 2,500,000 200 5 

Uva 3 2,000,000 100 -20 

Sabaragamuwa 1 3,00000 50 50 

Eastern  1 3,200,000 100 20 

North  1 1,400,000 30 10 

Southern  6 8,000,000 400 5 

North Western  1 200,000 10 50 

 
Advertising  
Currently, Agro-cars spend Rs 10,000,000 on advertising their vehicle ranges. In 
addition the retailers spend money locally as detailed in the above Table. 
 
Serious doubts exist as to the effectiveness of what Agro-cars do, as the company is 
spread so thinly. Equal doubts exist as to the quantity and the quality of advertising 
undertaken by the retailers. 
 
The newly appointed marketing consultant has suggested two schemes in order increase 
advertising effectiveness.  
 
Scheme 1 
Retailers agree to spend Rs 10,000 per vehicle on advertising in 2006. Agro-cars agree 
to contribute an additional 2,500 per vehicle to be spent on further advertising. 
 

Scheme 2 
 

Retailers commit to spending an additional 20% on advertising for 2006. Agro-cars 
agree to contribution 20% of total spend.  
 
Required  
a. How much would each of the two schemes cost Agro-cars? 
b. Recommend one of the schemes, justifying your decision. 
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Case Scenario – 03 

Costing a Print Job  
 
 

Company X is a well established retailer with 29 stores throughout the country and a 

turnover in excess of Rs 300 Mn. It has successful retail formula selling a broad range of 

products in 06 categories. They are toys, books, clothing, cosmetics, CDs/videos, 

electrical goods.  
 

Each of the above categories is managed by a team comprising a product manager,  

group buyer, merchandiser and either one or two assistants.  
 

The marketing department produces an annual catalogue distributed in early October. 

Individual product groups also hold budgets and brief their own advertising agencies in 

collaboration with the marketing department. 
 

Like many retailers, Company X sales build to a peak in December and success in this 

period is crucial. Company X’s marketing activity reflects this peak and a major 

component of its seasonal push is Christmas catalogue.  

 

Work starts on producing on this in January, several months before it is distributed. 

Indeed visuals and layouts are ready for the October launch. All staff working on the 

catalogue knows that it is crucial that it is launched in October as 30% of annual sales 

are taken during November and December. Therefore final deadlines for amendments 

are late September to allow a month for printing and distribution. 

 

Comprising 32 pages type setting and preparation costs Rs 1,000,000 and take 02 weeks 

with a further week needed for checking proofs. Print cost amount to Rs 50,000 per 

1,000 copies. Each page needs an average of 06 photographs and these costs Rs 500 

each including photography.  

 

Some of the cost of producing the catalogues can be recovered from the manufacturers 

of the good featured in its pages. It has become established practise to sell the prime 

advertising space on the front cover for Rs 10,000/ the back cover for Rs 5,000 with the 

remaining pages being sold for an average of Rs 2,000 each.  

 

Half the photographs are available from the suppliers, so saving some costs.  

 

Questions: 

1. Draw up an estimate of the cost associated with producing a million copies of 

the catalogue together with likely supplier contributions. 

2. If it appears likely that the revenue for advertising sales on inside pages will be 

significantly reduced what suggestions can you make for reducing costs? 

 

 



Chapter 06 – Costing Marketing Activities      

 
86

Case Scenario – 04 

Costing a Marketing Event  
 

You are an export company, exporting your products to USA and European markets. 

You receive the following details about two potential exhibitions.   
 

Domotex 200X  - Europe 

 

This is a 03 day show we attended last year which generated leads to the sales of 

50,000 metres of factory space. Standard costs are likely to be higher this year, but the 

organisers are promising an increase in attendance of 25%. Other costs are around the 

same. I have looked at last years costs for a 50 metre stand and they are: 

Stand space (per day)£6,000 

Stand design £6,000 

Staffing £200 per day 04 staff 

Travel £200 each  

Food, hotel expenses£2,700 

 

Global products fair - USA 

This is a new event and the organisers expect a quality attendance around 1,000 

leading industrialists. This takes place over 04 days and a 40 square metres space costs 

$6,000 per day with a 60 square feet space costing 50% more. Stand design costs are 

approximately ½ those of domotex whilst other expenses are broadly similar except 

airfares and travel likely to costs $300 per person.  

 

I look forward to a successful attendance at both events as our research indicates that 

they offer excellent opportunities to reach key decision makers.  

 

Required  

a) Due to budget cut backs it has being decided that the company can afford to 

attend only one of the two exhibitions mentioned in the Memo. Identify costs 

for each event. 

b) Make a recommendation for attending one of the events and justify. 

 

 
2.  Budgeting and Profit Planning 
 

2.1 Overview of Budgeting 

 

A budget is a quantified plan of action for a forthcoming accounting period which 

includes planned revenues, Costs, assets, liabilities and cash flows. A budget is a plan of 
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what the organisation is aiming to achieve and what is has set as a target whereas a 

forecast is an estimate of what is likely to occur in the future 

Key term 

Why do we produce budgets? 

 

– To ensure the achievement of the organisation's objectives 

– To compel planning 

– To coordinate activities within departments.  

– To communicate plans to the various responsibility centre managers. 

– To provide a framework for responsibility accounting 

– To establish a system of control 

– To motivate employees to achieve organisational goals 

– To evaluate the performance of managers.  

 

Budgets are therefore not prepared in isolation and then filed away but are the 

fundamental components of what is known as the budgetary planning and control 

system. A budgetary planning and control system is essentially a system for ensuring 

communication, coordination and control within an organisation.  

 

The budget period is 'The period for which a budget is prepared and used, which may 

then be sub-divided into control periods'. For example, a research and development 

budget may be prepared for the next 03 years because the long term nature of the activity 

makes yearly budgets less appropriate.  

 

Limiting factor or principal budget factor – it will be recalled from the previous chapter 

that the limiting factor which at any given time effectively limits the activities of the 

organisation. It may be customer demand, production capacity, shortage of labour, 

materials, space or finance. Frequently the principal budget factor is customer demand. 

That is the company is unable to sell all the output it can produce.  

 

a) Administration of the Budget  

 

The budget manual; is a collection of instructions governing the responsibilities of 

persons and the procedures, forms and records relating to the preparation and use of 

budgetary data. In addition, the manual may include a table which specifies the order in 

which the budget should be prepared and the dates when they should be presented to the 

budget committee.  

 

Accounting staff will normally assist managers in the preparation of their budgets; they 

will for example circulate and advice on the instructions about budget preparation, 

provide past information which will be useful to prepare the present budget and to ensure 

that managers will submit these budgets on time.  
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The budget committee is the coordinating body in the preparation and administration of 

budgets. It consists of high level executives who represent the major segment of the 

business. Its major task is to ensure that budgets are realistically established and that they 

are coordinated satisfactorily.  

 

The budget committee is assisted by a budget officer who is usually an accountant. 

Every part of the organisation should be represented on the committee, so there should be 

a representative from sales, production, marketing and so on. The role of the budget 

officer is to coordinate the individual budgets into a budget for the whole organisation.  

 

2.2 Stages in the Budgetary Process 

 

• Communication of policy guidelines to preparers of budgets. This is important as 

this will enable the preparers of budgets to know exactly how to form their 

respective budgets to be in line with the long term objectives of the firm. 

 

• The principle budget factor (see below) has to be identified which is the factor that 

restrict the performance of a company for that particular budget period. E.g. sales 

demand or availability of skilled labour. 

 

• Next is the preparation of the sales budget or the budget of the principle budgetary 

factor. Various methods of forecasting can be used for this such as market research, 

sales personnel estimates, statistical forecasting etc. 

 

• Next following the budget of the principle budgetary factor all the other budgets 

should be prepared ideally by the managers responsible for those particular budgets. 

 

• Negotiation budgets with superiors.  

 

• Coordination and review of budgets. 

 

• All the budgets are utilised to prepare the master budget which is then presented to 

the top management for approval. 

 

• Then the budgets are continuously compared with the actual results to identify 

variances and if needed the budgets are revised to take account of nay changes that 

has taken place after the budgets were prepared. ( this is ongoing review of budgets) 

 

2.3 Functional Budget Preparation 
 

The preparation of a budget may take weeks or months, and the budget committee may 

meet several times before the functional budgets are co-ordinated and the master budget 

is finally agreed. 

T FORWARD 
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A departmental/functional budget is 'A budget of income and/or expenditure applicable 

to a particular function. A function may refer to a department or a process. Functional 

budgets frequently include: 

 

• Production cost budget (based on a forecast of production and plant utilisation) – by  

• Production manager.  

• Marketing cost budget – by marketing manager 

• Personnel budget – by HR manager 

• Purchasing budget – by purchasing manager 

• Research and development budget – by R&D manager 

 

Each of the above budgets can be further subdivided into categories; 

 

Example 01 – Personnel budget can be subdivided into skilled labour budget and 

unskilled labour budget 

Example 02 – Marketing budget will include the sales budget and the marketing expense 

budget as follows; 

• Product promotional budget 

• Product distribution budget 

• Distribution expansion budget 

• New product development budget 

• Marketing personnel budget 

• Advertising budget 

• Market research budget 

 

┼ Activity  

 

K Ltd a fast food retailer has recently done a market research and has identified that its 

sales will increase by 1000 more packs every month and the demand for January is 5000 

packs. The sales price of a pack is on average Rs.250. the company has opening stock of 

1000 units from the last quarter and it hopes to maintain 50% of the opening stock as the 

closing stock every month.  

 

Each pack requires 10 minutes of skilled labour and 5 minutes of unskilled labour who 

are paid Rs.50/hr and Rs.30/hr.All the ingredients for the food packs have to be bought 

as no stocks of ingredients are kept. Further the ingredients are of two types i.e. X and Y 

which costs Rs.20/kg and Rs.50 kg and each unit uses them in the ratio 2:1.Marketing 

costs (advertising) were initially estimated at Rs.10000 but this is expected to decline 

every month by 10% as the customers increase and their loyalty builds up for K Ltd 

food packs. Produce all the possible budgets from the given information for the first 

quarter of the year. 
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Sales Budget 

                                 January            February        March         April 

 Sales (units)               5000                  6000              7000            8000 

 Sales (Rs.1000)         1250                  1500               1750            2000  

 

Production Budget (units) 

                                  January            February        March         April 

 

 Sales                            5000                  6000              7000            8000 

Closing Stock                 500                    250                125                63 

Opening Stock             (1000)                (500)             (250)           (125) 

                                      4500                  5750             6875            7938 

 

Raw Material Purchases budget (units) 

                                 January            February        March         April 

 

Material X                 9,000                   11,500            13,750       15,876 

Material Y                 4,500                     5,750              6,875         7,938 

 

Raw Material Cost Budget 

                                    

                                 January            February        March         April 

 

Material X                 9,000                   11,500            13,750       15,876 

Material Y                 4,500                     5,750              6,875         7,938 

Personnel Budget (hours) 

  

                                 January            February        March         April 

 

Skilled Labour           750                      959                1146            1323  

Unskilled Labour       375                      480                 573              662 

 

Personnel Cost Budget (Rs) 

                                 January            February        March         April 

 

Skilled Labour          37,500                 47,950           57,300        66,150                      

Unskilled Labour      11,250                14,400            17,190        19,860 
 

Marketing Cost Budget (Rs.) 

                                 January            February        March         April                               

Advertising               10,000                  9,000            8,100            7,290 
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2.4 Preparation of the Master Budget linking the Functional Budgets 

  

a) Steps in the preparation of a master budget linking the functional budgets 

 

• Prepare the sales budget followed by the production budget. 

• Then formulate the raw materials, labour and factory overheads budgets to arrive at 

cost of sales budget. 

• Next all the expenditure budgets including administration, selling and distribution and 

capital expenditure budgets should be prepared. 

• Finally combine all the above budgets and prepare the master budget 

 

The master budget is a summary of the functional (subsidiary) budgets and cash budget 

and includes a budgeted profit and loss account and a budgeted balance sheet. 

Key term 

The master budget is 'The budget into which all subsidiary budgets are consolidated, 

normally comprising budgeted profit and loss account, budgeted balance sheet and 

budgeted cash flow statement. These documents, and the supporting subsidiary budgets, 

are used to plan and control activities for the following year'.  

 

It is this master budget which is submitted to senior managers or directors for their 

approval. If the master budget is approved as an acceptable plan for the forthcoming 

budget period then it acts as an instruction and authorisation to budget managers, to 

allow them to take action to achieve their budgets.  

 

If the master budget is not approved as an acceptable plan then it will be returned to the 

budget committee for amendment. Senior management will then review the amended 

master budget again. Thus, budgeting is an iterative process and it may be necessary to 

perform many iterations before an acceptable, workable budget is adopted and approved. 

 

All of the three components of the master budget derive its data from the functional 

budgets and other miscellaneous budgets such as the capital expenditure budget, debtors' 

budget etc. Budgeted Profit and Loss Account and the Budgeted Balance Sheet are 

prepared in the normal manner to arrive at the budgeted profit. An example of a cash 

budget is shown below. 

 

┼ Example 
 

Mr. Gavin Smith is starting a small garment manufacturing business and is now trying 

to forecast his cash flow for the next quarter. His assistant has provided him with the 

following details. Sales demand will be 5000 in January and thereafter demand will 

increase by 1500 units per month in the next 3 months. Sales price of the garments 

manufactured will be Rs.600/item and sales prices are expected to rise by 5% in the last 
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month of the quarter. 50% of sales are made on credit where 30% of the debtors pay 

within the month of purchase and the other 20% pay one-month after the purchase date. 

 

The cost of raw materials per unit of output is Rs.100 and each unit uses 0.5 hours of 

labour who are paid Rs.50/hour. These costs are paid as and when they arise and these 

costs are expected to rise by 2% from March. Variable overheads are paid at Rs.10/uni t 

of output with one month's lag subject to 2% increase from March. Rent is paid at the 

end of each quarter for the next quarter and amounts to Rs.5000. Mr. Smith has 

Rs.50,000 in his bank account which he will invest as start up capital for the business. 

He has inherited all the necessary fixed assets to run his business from his father. 

 

CASH BUDGET  Jan Feb Mar Apr 

Receipts  3000000 3900000 4800000 5985000 

      

Sales       

50% cash         1,500,000       1,950,000       2,400,000       2,992,500 

50% Credit - same 

month 

          900,000       1,170,000       1,440,000       1,795,500 

Next month 0         600,000         780,000         960,000 

         2,400,000       3,720,000       4,620,000       5,748,000 

      

Payments      

      

Raw materials           500,000         650,000         816,000         969,000 

Labour cost           125,000         162,500         204,000         242,250 

Variable overhead 

costs 

           50,000           65,000           81,600 

Rent                 5,000 

            625,000         862,500       1,085,000       1,297,850 

      

Opening Cash 

Balance 

50,000       1,825,000       4,682,500       8,217,500 

Net cash Flow        1,775,000       2,857,500       3,535,000       4,450,150 

Closing Cash 

Balance 

       1,825,000       4,682,500       8,217,500     12,667,650 
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Summary of steps to be used in the preparation of a budget 

 

Step 1. Identification of principal/key/limiting budget factor 

Step 2. Preparation of a sales budget, assuming that sales are the principal budget factor 

(in units and in sales value for each product, based on a sales forecast) 

Step 3. Preparation of a finished goods inventory budget (to determine the planned 

change in finished goods inventory levels) 

Step 4. Preparation of a production budget (calculated as sales + closing inventory – 

opening inventory) 

Step 5. Preparation of budgets for production resources 

• Materials usage 

• Machine usage 

• Labour 

Step 6. Preparation of a raw materials inventory budget (to determine the planned 

change in raw materials inventory levels) 

Step 7. Preparation of a raw materials purchases budget (calculated as usage + 

inventory – opening inventory) 

Step 8. Preparation of overhead cost budgets (such as production, administration, selling 

and distribution and R&D) 

Step 9. Calculation of overhead absorption rates (if absorption costing is used) 

Step 10. Preparation of a cash budget (and others as required, capital expenditure and 

working capital budgets) 

Step 11. Preparation of a master budget (budgeted income statement and budgeted 

balance sheet and the cash budget) 

 

2.5 Fixed, Flexible and Zero based Budgeting 

 

a) Zero Based Budgeting 

 

The principle behind zero base budgeting is that the budget for each cost centre should 

be prepared from 'scratch' or zero. Every item of expenditure must be justified to be 

included in the budget for the forthcoming period. ZBB rejects the assumption inherent in 

incremental budgeting that this year's activities will continue at the same level or volume 

next year, and that next year's budget can be based on this year's costs plus an extra 

amount, perhaps for expansion and inflation. 
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Zero base budgeting is 'A method of budgeting which requires each cost element to be 

specifically justified, as though the activities to which the budget relates were being 

undertaken for the first time. Without approval the budget allowance is zero.' 

 

In reality, however, managers do not have to budget from zero, but can start from their 

current level of expenditure and work downwards, asking what would happen if any 

particular aspect of current expenditure and current operations were removed from the 

budget. In this way, every aspect of the budget is examined in terms of its cost and the 

benefits it provides and the selection of better alternatives is encouraged. 

 

b) Fixed and Flexible Budgets 

 

Fixed budgets remain unchanged regardless of the level of activity; flexible budgets are 

designed to flex with the level of activity. Flexible budgets are prepared using marginal 

costing and so mixed costs must be split into their fixed and variable components. 

 

• Fixed budgets 

 

The master budget prepared before the beginning of the budget period is known as the 

fixed budget. By the term 'fixed', we do not mean that the budget is kept unchanged. 

Revisions to a fixed master budget will be made if the situation so demands. The term 

'fixed' means the following. 

(a) The budget is prepared on the basis of an estimated volume of production and an 

estimated volume of sales, but no plans are made for the event those actual 

volumes of production and sales may differ from budgeted volumes. 

 

(b) When actual volumes of production and sales during a control period (month or 

four weeks or quarter) are achieved, a fixed budget is not adjusted (in retrospect) 

to represent a new target for the new levels of activity. 

 

The major purpose of a fixed budget lies in its use at the planning stage, when it seeks to 

define the broad objectives of the organisation. 

Key term 

Fixed budgets (in terms of a pre-set expenditure limit) are also useful for controlling 

any fixed cost, and particularly non-production fixed costs such as advertising, 

because such costs should be unaffected by changes in activity level (within a certain 

range). 

 

• Flexed budgets 

 

Comparison of a fixed budget with the actual results for a different level of activity is of 

little use for budgetary control purposes. Flexible budgets should be used to show what 
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cost and revenues should have been for the actual level of activity. Differences between 

the flexible budget figures and actual results are variances. 

Key term 

A flexible budget is 'A budget which, by recognising different cost behaviour patterns, is 

designed to change as volume of activity changes'.  

 

• Two uses of flexible budgets 

 

(a) At the planning stage. For example, suppose that a company expects to sell 20,000 

units of output during the next year. A master budget (the fixed budget) would be 

prepared on the basis of these expected volumes. However, if the company thinks that 

output and sales might be as low as 15,000 units or as high as 25,000 units, it may prepare 

contingency flexible budgets, at volumes of, say 15,000,17,000, 19,000, 21,000, 23,000 

and 25,000 units, and then assess the possible outcomes.  

 

(b) Retrospectively. At the end of each control period, flexible budgets can be used to 

compare actual results achieved with what results should have been under the 

circumstances. 

 

Flexible budgets are an essential factor in budgetary control. 

 

(i) Management needs to know about how good or bad actual performance has been. 

To provide a measure of performance, there must be a yardstick (budget/ standard) 

against which actual performance can be measured. 

 

(ii) Every business is dynamic, and actual volumes of output cannot be expected to 

conform exactly to the fixed budget. Comparing actual costs directly with the fixed 

budget costs is meaningless. 

 

(iii) For useful control information, it is necessary to compare actual results at the actual 

level of activity achieved against the results that should have been expected at this 

level of activity, which are shown by the flexible budget. 

 

 

E.g. B Ltd manufactures gardening tools and it has budgeted for 20,000 tools and their 

detailed overhead budget is given below. 

 

Indirect Labour                      Rs.20,000 

Consumables                         Rs.     800 

Other Variable Overheads    Rs.  4,200 

Depreciation (fixed)              Rs 10,000 

Other Fixed Overheads         Rs. 5,000 

                                              Rs.40,000 
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Prepare a flexible budget for 24,000 tools. 

 

 

Indirect Labour                  (Rs.20,000/20,000 units)*24,000 = Rs.24,000 

Consumables                     (Rs.800/20,000 units) *24,000     = Rs.     960 

Other Variable Overheads (Rs.4,200/20,000 units)*24,000  = Rs.   5,040 

Depreciation                                                                           = Rs. 10,000              

Other Fixed Overheads                                                          =  Rs.   5,000 

                                                                                                   Rs. 45,000 

 

Note: In flexible budgeting all the variable costs are changed as they change with output 

whilst fixed costs are not changed as they tend to remain the same irrespective of the 

activity level. 

 

┼ Exercise 01  

 

Company P produces product Y. They expect to sell 9000 units of product Y in the 

coming year. The following historical records of costs are available. 

 

Units of salesCost of sales 

 

    9,800                    Rs 444,000 

    7,700                    Rs 381,000 

 

Management of company P is not certain that the estimate sales is correct because they 

believe that competitors are planning promotional campaigns that may reduce the 

product’s sales as much as 1000 units.  

 

On the other hand there is an every chance that the promotions may backfire and attract 

customers to the Needle works, pushing sales up by 1000 units. They have therefore 

asked you for a flexible budget to be prepared at sales levels of 8000 and 10,000 units. 

Sales price per unit has been fixed at Rs 50. 

 

Prepare a flexible budget for 8,000 and 10,000 showing up to contribution and net 

profit.  
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┼ Exercise 02  

 

Forecast sales for a new product line have been estimated at 10,000 units per annum. 

Selling prices have been discussed at Rs 100 per unit, Rs 150 per unit and Rs 200 per 

unit. Fixed costs associated with the product are budgeted at Rs 10 per hour of direct 

labour & Rs 40 per unit produced in material costs. It takes two hours of direct labour to 

assemble and pack the units for delivery. Each unit sold will incur delivery costs but 

these will be recouped from the customer in full and are forecasted to make an 

additional contribution of Rs 10 per unit sold.  
 

a) Prepare a budget for each price level that clearly shows sales, cost of sales, 

contribution and net profit. 

b) In addition flex the budget to show what would happen if sales forecast is only 

80% accurate. 
 

 

♪  My Short Notes  
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♪  My Short Notes  
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Chapter 7 

Marketing Decisions based on Management 

Accounting Decisions 
 
 

This chapter will cover the following areas: 
 

1. Investment Decisions based on Cost of Capital Calculations   

2. Accept or Reject Decisions. 

3. Make or Buy decisions 

4. Addition and Deletion of Products 
 

1. Investment Decisions based on Cost of Capital Calculations   
 

Please refer chapter 13 
 

2. Acceptance/Rejection of Contracts 
 

In general terms, a contract will probably be accepted if it increases contribution and 

profit, and rejected if it reduces profit. If an organisation has spare capacity (which 

means that it would not have to turn away existing business), a 'special' (one-off) contract 

(which is normally (in the exam) at a price below the normal price of the product), should 

be accepted if the price offered makes some contribution to fixed costs and profit. In 

other words, the variable cost of the contract needs to be less than the price offered. Fixed 

costs are irrelevant to such a decision since they will be incurred regardless of whether or 

not the contract is accepted.  

 

Additional fixed costs incurred as a result of accepting the contract must be taken into 

account, however. If an organisation does not have sufficient spare capacity, existing 

business should only be turned away if the contribution from the contract is greater than 

the contribution from the business which must be sacrificed. 

 ┼┼┼┼ Example: Accepting Or Rejecting Contracts 
 

HP makes a single product which sells for Rs20, and for which there is great demand. It 

has a variable cost 

of Rs12, made up as follows. 

Rs 

Direct material             4 

Direct labour (2 hrs)    6 

Variable overhead 2   12 
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The labour force is currently working at full capacity producing a product that earns a 

contribution of Rs4 per labour hour. A customer has approached the company with a 

request for the manufacture of a special contract for which he is willing to pay Rs5,500. 

The costs of the contract would be Rs2,000 for direct materials, and 500 labour hours 

will be required. 
 

Decide whether the contract should be accepted. 

 

 

Solution 

 

(a) The labour force is working at full capacity. By accepting the contract, work would 

have to be diverted away from the standard product, and contribution will be lost, that 

is, there is an opportunity cost of accepting the new contract, which is the contribution 

forgone by being unable to make the standard product. 

 

(b) Direct labour pay costs Rs3 per hour, but it is also usually assumed that variable 

production overhead varies with hours worked, and must therefore be spent in addition 

to the wages cost of the 500 hours. 

 

(c) Rs  

Value of contract 5,500 

Cost of contract 

Direct materials 2,000 

Direct labour (500 hrs × Rs3) 1,500 

Variable overhead (500 hrs × Rs1) 500 

Opportunity cost (500 hrs × Rs4) (contribution forgone) 2,000 

Relevant cost of the contract 6,000 

Loss incurred by accepting the contract (500) 

 

Although accepting the contract would earn a contribution of Rs1, 500 (Rs5, 500 – Rs4, 

000), the lost production of the standard product would reduce contribution earned 

elsewhere by Rs2, 000 and so the contract should not be accepted. 

 

Other considerations must also be taken into account, however. 

(a) Will relationships with existing customers, or prices that can be commanded in 

the market, be affected if the contract is accepted? 

(b) As a loss leader, could it create further business opportunities? 

(c) Should existing business be turned away in order to fulfil a one-off enquiry or 

could a long-term contract be established? 
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Example: Minimum Price Using An Opportunity Cost Approach 

 

Minimax has just completed production of an item of special equipment for a customer, 

only to be notified that this customer has now gone into liquidation. After much effort, 

the sales manager has been able to interest a potential buyer who might buy the machine 

if certain conversion work could first be carried out. 

 

(a) The sales price of the machine to the original buyer had been fixed at Rs 138,600 

and had included an estimated normal profit mark-up of 10% on total costs. The 

costs incurred in the manufacture of the machine were as follows. 

    Rs 

Direct materials                                    49,000 

Direct labour                                         36,000 

Variable overhead                                   9,000 

Fixed production overhead                    24,000 

Fixed sales and distribution overhead     8,000 

 126,000 

 

(b) If the machine is converted, the production manager estimates that the cost of the 

extra work required would be as follows. 

Direct materials (at cost) Rs9,600 

Direct labour 

Department X: 6 workers for 4 weeks at Rs210 per worker per week 

Department Y: 2 workers for 4 weeks at Rs160 per worker per week 

 

(c) Variable overhead would be 20% of direct labour cost, and fixed production 

overhead would be absorbed as follows. 

Department X: 83.33% of direct labour cost 

Department Y: 25% of direct labour cost 

 

(d) Additional information is available as follows. 

(i) In the original machine, there are three types of material. 

• Type A could be sold for scrap for Rs 8,000. 

• Type B could be sold for scrap for Rs 2,400 but it would take 120 

hours of casual labour paid at Rs3.50 per hour to put it into a condition 

in which it would be suitable for sale. 
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• Type C would need to be scrapped, at a cost to Minimax Ltd of  Rs 

1,100. 

(ii) The direct materials required for the conversion are already in stock. If not 

needed for the conversion they would be used in the production of another 

machine in place of materials that would otherwise need to be purchased, 

and that would currently cost Rs 8,800. 

(iii) The conversion work would be carried out in two departments, X and Y. 

Department X is currently extremely busy and working at full capacity; it is 

estimated that its contribution to fixed overhead and profits is Rs2.50 per 

Rs1 of labour. Department Y, on the other hand, is short of work but for 

organisational reasons its labour force, which at the moment has a workload 

of only 40% of its standard capacity, cannot be reduced below its current 

level of eight employees, all of whom are paid a wage of Rs160 per week. 

(iv) The designs and specifications of the original machine could be sold to an 

overseas customer for Rs 4,500 if the machine is scrapped. 

(v) If conversion work is undertaken, a temporary supervisor would need to be 

employed for four weeks at a total cost of Rs 1,500. It is normal company 

practice to charge supervision costs to fixed overhead. 

(vi) The original customer has already paid a non-returnable deposit to Minimax 

Ltd of 12.5% of the selling price. 

 

Required 

Calculate the minimum price that Minimax should accept from the new customer for the 

converted machine. Explain clearly how you have reached this figure. 
 

 

Solution 

The minimum price is the price which reflects the relevant costs (opportunity costs) of 

the work. These are established as follows. 

 

(a) Past costs are not relevant, and the Rs 126,000 of cost incurred should be excluded 

from the minimum price calculation. It is necessary, however, to consider the alternative 

use of the direct materials which would be forgone if the conversion work is carried out. 

 

Type A 

Revenue from sales as scrap (note (i)) 8,000 

 

Type B 
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Revenue from sales as scrap, minus the additional cash costs necessary to prepare it for 

sale (Rs2,400 – (120 × Rs3.50)) (note (i)) 1,980 

 

Type C 

Cost of disposal if the machine is not converted 

(a negative opportunity cost) (note (ii)) (1,100) 

Total opportunity cost of materials types A, B and C 8,880 

 

By agreeing to the conversion of the machine, Minimax would therefore lose net 

revenue of Rs 8,880 from the alternative use of these materials. 

 

Notes 

(i) Scrap sales would be lost if the conversion work goes ahead. 

(ii) These costs would be incurred unless the work goes ahead. 

 

(b) The cost of additional direct materials for conversion is Rs 9,600, but this is an 

historical cost. The relevant cost of these materials is the Rs 8,800 which would be spent 

on new purchases if the conversion is carried out. If the conversion work goes ahead, the 

materials held would be unavailable for production of the other machine mentioned in 

item (d) (ii) of the question and so the extra purchases of Rs 8,800 would then be 

needed. 

 

(c) Direct labour in departments X and Y is a fixed cost and the labour force will be 

paid regardless of the work they do or do not do. The cost of labour for conversion in 

department Y is not a relevant cost because the work could be done without any extra 

cost to the company. 

 

In department X, however, acceptance of the conversion work would oblige the 

company to divert production from other profitable jobs. The minimum contribution 

required from using department X labour must be sufficient to cover the cost of the 

labour and variable overheads and then make an additional Rs2.50 in contribution per 

direct labour hour. 

 

Department X: costs for direct labour hours spent on conversion 

6 workers × 4 weeks × Rs210 = Rs5,040 

Variable overhead cost 

Rs5,040 × 20% = Rs1,008 

Contribution forgone by diverting labour from other work 

Rs2.50 per Rs1 of labour cost = Rs5,040 × 250% = Rs12,600 
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(d) Variable overheads in department Y are relevant costs because they will only be 

incurred if production work is carried out. (It is assumed that if the workforce is idle, no 

variable overheads would be incurred.) 

Department Y 20% of (2 workers × 4 weeks × Rs160) = Rs256 

 

(e) If the machine is converted, the company cannot sell the designs and specifications 

to the overseas company. Rs 4,500 are a relevant (opportunity) cost of accepting the 

conversion order. 

 

(f) Fixed overheads, being mainly unchanged regardless of what the company decides 

to do, should be ignored because they are not relevant (incremental) costs. The 

additional cost of supervision should, however, be included as a relevant cost of the 

order because the Rs 1,500 will not be spent unless the conversion work is done. 

FAST FORWARD 

(g) The non-refundable deposit received should be ignored and should not be 

deducted in the calculation of the minimum price. Just as costs incurred in the past are 

not relevant to a current decision about what to do in the future, revenues collected in 

the past are also irrelevant. 

 

Estimate of minimum price for the converted machine 

 

Opportunity cost of using the direct materials types A, B and C  8,880 

Opportunity cost of additional materials for conversion 8,800 

Opportunity cost of work in department X 

 

Labour                                         5,040 

Variable overhead                       1,008 

Contribution forgone                 12,600 

18,648 

 

Opportunity cost: sale of designs and specifications 4,500 

 

Incremental costs: 

Variable production overheads in department Y 256 

Fixed production overheads (additional supervision) 1,500 

 

Minimum price 42,584 
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3. Make or Buy Decisions 
 

The GENERAL APPROACH TO DECISION MAKING involves the identification of all 

future costs associated with the required decision.  Historical costs need not be 

considered.  The only relevant costs are those future costs that differ among alternative 

courses of action. Relevant costs can be studied by using a FULL PROJECT OR 

INCREMENTAL APPROACH.  With the full project approach management compares 

the total costs of each available alternative, generally selecting the one which produces 

the lowest total cost.  Under the incremental approach only net cost differences are 

considered.  Two disadvantages of the incremental approach are (1) it is cumbersome 

when evaluating more than two alternatives, and (2) netting leads to the possibility of 

mathematical errors.  

 

In DECISION MAKING:  AN EMPHASIS ON THE FUTURE is paramount.  For 

example, businesses may find themselves in a position where a conventional income 

statement will reveal a loss no matter which alternative is selected.  However, the primary 

consideration in decision making pertains only to properly evaluating future costs and 

revenues associated with the alternatives. THE CONCEPT OF SUNK COST means that 

the cost of past actions should not be considered in selecting the appropriate future 

path.  Specifically, sunk costs are irrelevant in decision making.  Again, the appropriate 

analysis requires a focus on future revenues and costs that differ among alternatives. 

 

In decision making it is easy to fall into the trap of focusing only on quantitative 

considerations.  However, QUALITATIVE FACTORS must also be 

evaluated.  Examples of qualitative factors to consider are customer reaction, employee 

morale, anticipated effect on future productivity, and so forth. 

 

A SUMMARY OF THE DECISION-MAKING PROCESS reveals four basic 

steps.  First, identify each alternative and examine the future costs and revenues.  Second, 

disregard items that are the same among alternatives.  Third, identify and consider the 

qualitative factors.  Fourth, make a decision after a thorough study of both the 

quantitative analysis and related qualitative concerns. Manufacturing companies must 

frequently choose between making or buying ("outsourcing") selected parts.  These 

MAKE OR BUY DECISIONS require that management isolate the relevant costs.  All 

future costs that differ between the make or buy alternatives should be studied.  Sunk 

costs should be ignored.  Generally, one would expect that a decision to buy a product 

would eliminate the variable costs associated with manufacturing those particular 

units.  However, fixed factory overhead would probably continue.  Because fixed factory 

overhead will continue whether the units are purchased or manufactured, these amounts 

can be disregarded.  That is, fixed factory overhead is a cost that generally does not differ 

among the alternatives. 

 

Bear in mind, however, that some costs are really AVOIDABLE FIXED 

OVERHEAD.  That is, if the purchase decision allows closure of a manufacturing 
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operation, certain fixed overhead may be avoided.  Therefore, in analyzing the costs 

which differ among the alternatives, one must consider that by continuing to make the 

units the avoidable fixed overhead will continue to be incurred.  By buying the units, this 

cost would be avoided (along with variable production costs). In performing a complete 

analysis of the decision to make or buy, management must also evaluate the 

OPPORTUNITY COST of the decision.  Opportunity cost is the cost of a foregone 

alternative.  For example, by deciding to buy units rather than continue to manufacture 

them, one may be able to free up manufacturing capacity to utilize in producing other 

products.  The contribution margin associated with the additional products would become 

a relevant cost in the decision.  This opportunity cost would generally be added to the cost 

of making the units. 

 

In make or buy decisions, the QUALITATIVE CONSIDERATIONS are extremely 

important.  One must continually monitor the supplier's financial health and ability to 

continue to deliver the product on a timely basis. 

 

3.1 Relevant Costs for Decision Making 

 

The costs which should be used for decision making are often referred to as "relevant 

costs". CIMA defines relevant costs as 'costs appropriate to aiding the making of specific 

management decisions'.  

 

To affect a decision a cost must be:  

a) Future: Past costs are irrelevant, as we cannot affect them by current decisions and 

they are common to all alternatives that we may choose.  

b) Incremental: ' Meaning, expenditure which will be incurred or avoided as a result 

of making a decision. Any costs which would be incurred whether or not the 

decision is made are not said to be incremental to the decision.  

c) Cash flow: Expenses such as depreciation are not cash flows and are therefore not 

relevant. Similarly, the book value of existing equipment is irrelevant, but the 

disposal value is relevant. 

Other terms:  

d) Common costs: Costs which will be identical for all alternatives are irrelevant, e.g. 

rent or rates on a factory would be incurred whatever products are produced.  

e) Sunk costs: Another name for past costs, which are always irrelevant, e.g. 

dedicated fixed assets, development costs already incurred.  

f) Committed costs: A future cash outflow that will be incurred anyway, whatever 

decision is taken now, e.g. contracts already entered into which cannot be altered. 

 

3.2 Opportunity Cost for Decision Making  

 

Relevant costs may also be expressed as opportunity costs. An opportunity cost is the 

benefit foregone by choosing one opportunity instead of the next best alternative.  
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Example  
 

A company is considering publishing a limited edition book bound in a special leather. It 

has in stock the leather bought some years ago for Rs 100,000. To buy an equivalent 

quantity now would cost Rs 200,000. The company has no plans to use the leather for 

other purposes, although it has considered the possibilities:  

 

a) Of using it to cover desk furnishings, in replacement for other material which 

could cost Rs 90,000 

b) Of selling it if a buyer could be found (the proceeds are unlikely to exceed Rs 

80,000).  

 

In calculating the likely profit from the proposed book before deciding to go ahead with 

the project, the leather would not be costed at Rs100,000. The cost was incurred in the 

past for some reason which is no longer relevant. The leather exists and could be used on 

the book without incurring any specific cost in doing so. In using the leather on the book, 

however, the company will lose the opportunities of either disposing of it for Rs 80,000 

or of using it to save an outlay of Rs90,000 on desk furnishings. The better of these 

alternatives, from the point of view of benefiting from the leather, is the latter. "Lost 

opportunity" cost of Rs 90,000 will therefore be included in the cost of the book for 

decision making purposes.  

 

The relevant costs for decision purposes will be the sum of:  

i) 'Avoidable outlay costs', i.e. those costs which will be incurred only if the book 

project is approved, and will be avoided if it is not  

ii) The opportunity cost of the leather (not represented by any outlay cost in 

connection to the project). 

 

This total is a true representation of 'economic cost'.  

 

3.3 Make or Buy Decisions – Example 

 

A company is often faced with the decision as to whether it should manufacture a 

component or buy it outside. Suppose for example, that Masanzu Ltd. make four 

components, W, X, Y and Z, with expected costs for the coming year as follows:  

 

 W X Y Z 

Production (units) 1,000 2,000 4,000 3,000 

Unit marginal costs Rs. Rs. Rs. Rs. 

Direct materials 4 5 2 4 

Direct labour 8 9 4 6 

Variable production overheads 2 3 1 2 

 14 17 7 12 
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Direct fixed costs/annum and committed fixed costs are as follows:  
 

Incurred as a direct consequence of making W 1,000 

Incurred as a direct consequence of making X 5,000 

Incurred as a direct consequence of making Y 6,000 

Incurred as a direct consequence of making Z 8,000 

Other committed fixed costs 30,000 

 50,000 

 

A subcontractor has offered to supply units W, X, Y and Z for Rs. 12, Rs. 21, Rs. 10 and 

Rs. 14 respectively. Decide whether Masanzu Ltd. should make or buy the components.  

 

Solution and Discussion  

 

a) The relevant costs are the differential costs between making and buying. They consist 

of differences in unit variable costs plus differences in directly attributable fixed 

costs. Subcontracting will result in some savings on fixed cost.  

 

   W  X  Y  Z  

Rs.   Rs.   Rs.   Rs.   

Unit variable cost of making  14  17  7  12  

Unit variable cost of buying  12  21  10  14  

 (2)  -4  2  2  

Annual requirements in units  1,000  2,000  4,000  3,000  

Extra variable cost of buying per annum  (2,000)  8,000  12,000  6,000  

Fixed cost saved by buying  1,000  5,000  6,000  8,000  

Extra total cost of buying  (3,000)  3,000  6,000  (2,000)  

 

b) The company would save Rs. 3,000/annum by sub-contracting component W, and 

Rs. 2,000/annum by sub-contracting component Z.  

c) In this example, relevant costs are the variable costs of in-house manufacture, the 

variable costs of sub-contracted units, and the saving in fixed costs.  

d) Other important considerations are as follows:  

i) If components W and Z are sub-contracted, the company will have spare 

capacity. How should that spare capacity be profitably used? Are there hidden 

benefits to be obtained from sub-contracting? Will there be resentment from 

the workforce?  

ii) Would the sub-contractor be reliable with delivery times, and is the quality the 

same as those manufactured internally?  

iii) Does the company wish to be flexible and maintain better control over 

operations by making everything itself?  

iv) Are the estimates of fixed costs savings reliable? In the case of product W, 

buying is clearly cheaper than making in-house. However, for product Z, the 
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decision to buy rather than make would only be financially attractive if the 

fixed cost savings of Rs. 8,000 could be delivered by management. In practice, 

this may not materialise. 

 

Exercise  
 

The Pip, a component used by Goya Manufacturing Ltd., is incorporated into a number 

of its completed products. The Pip is purchased from a supplier at Rs. 2.50 per 

component and some 20,000 are used annually in production. The price of Rs. 2.50 is 

considered to be competitive, and the supplier has maintained good quality service over 

the last five years. The production engineering department at Goya Manufacturing Ltd. 

has submitted a proposal to manufacture the Pip in-house. The variable cost per unit 

produced is estimated at Rs. 1.20 and additional annual fixed costs that would be 

incurred if the Pip were manufactured are estimated at Rs. 20,800.  

a) Determine whether Goya Manufacturing Ltd. should continue to purchase the 

Pip or manufacture it in-house.  

b) Indicate the level of production required that would make Goya Manufacturing 

Ltd. decide in favour of manufacturing the Pip itself. 

 

 

4. Addition and Deletion of Products 

 

The ADDITION OR DELETION OF PRODUCTS OR DEPARTMENTS is one of the 

most difficult decisions management must make.  Careful analysis is required; 

management should not merely conclude that any unit generating a net loss should be 

eliminated.  This result occurs primarily because some fixed costs of a discontinued unit 

will continue and must be absorbed by other units which continue to operate.  In essence, 

a domino effect can occur when the fixed costs are redistributed (i.e., other units may 

begin to also appear unprofitable).  In these situations, the appropriate analysis is to 

compare company wide net income with and without the unit targeted for elimination. 

 

Shutdown Problems 
 

Shutdown problems involve the following types of decisions:  

a) Whether or not to close down a factory, department, product line or other activity, 

either because it is making losses or because it is too expensive to run.  

b) If the decision is to shut down, whether the closure should be permanent or 

temporary. Shutdown decisions often involve long term considerations, and 

capital expenditures and revenues.  

c) A shutdown should result in savings in annual operating costs for a number of 

years in the future.  

d) Closure results in release of some fixed assets for sale. Some assets might have a 

small scrap value, but others, e.g. property, might have a substantial sale value.  
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e) Employees affected by the closure must be made redundant or relocated, perhaps 

even offered early retirement. There will be lump sums payments involved which 

must be taken into consideration. For example, suppose closure of a regional 

office results in annual savings of Rs. 100,000, fixed assets sold off for Rs. 2 

million, but redundancy payments would be Rs. 3 million. The shutdown decision 

would involve an assessment of the net capital cost of closure (Rs. 1 million) 

against the annual benefits (Rs. 100,000 per annum). 

 

It is possible for shutdown problems to be simplified into short run decisions, by making 

one of the following assumptions  

a) Fixed asset sales and redundancy costs would be negligible 

b) Income from fixed asset sales would match redundancy costs and so these items 

would be self-cancelling. 
 

In these circumstances the financial aspects of shutdown decisions would be based on 

short run relevant costs.  

 

Exercise - Adding or Deleting Products  

Brass Ltd. manufactures three products, Swans, Ducks and Chicks. The present net 

annual income from each item is as follows:  

 

   Swans  Ducks  Chicks  Total  

Rs.   Rs.   Rs.   Rs.   

Sales  50,000  40,000  60,000  150,000  

Variable costs  30,000  25,000  35,000  90,000  

Contribution  20,000  15,000  25,000  60,000  

Fixed costs  17,000  18,000  20,000  55,000  

Profit/(loss)  3,000  (3,000)  5,000  5,000  

 

Brass Ltd. is concerned about its poor profit performance, and is considering whether or 

not to cease selling Ducks. It is felt that selling prices cannot be increased or lowered 

without adversely affecting net income. Rs. 5,000 of the fixed costs of Ducks is direct 

fixed costs which would be saved if production ceased. All other fixed costs will remain 

the same.  

 

a) Advise Brass Ltd. whether or not to cease production of Ducks. 

b) Suppose, however, it were possible to use the resources realised by stopping 

production of Ducks, and switch to produce a new item, Eagles, which would sell 

for Rs. 50,000 and incur variable costs of Rs. 30,000 and extra fixed costs of Rs. 

6,000. What will the new decision be? 
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Chapter 8 

Understanding Financial Accounting 
 

This chapter will cover  

1. The Nature of Financial Accounting 

2. The Meaning and Purpose of Financial Statements 

3. The Different types of Financial Statements – An introduction 
 

 

1 The Nature of Financial Accounting 
 

1.1 Underlying Principles 
 

At the outset if we try to understand the need for “Accounting” we would find its roots are 

connected to the basic economic concept of “Scarcity”. As resources are limited when 

compared with the unlimited needs and wants of society, the necessity to “Control” arises so 

that resources could be utilized effectively. In satisfying this need for control, accounting 

becomes a “Controlling Mechanism”.  

 

As discussed in chapter 1, Accounting can be broadly categorized into Financial Accounting 

and Management Accounting. Financial Accounting is mainly about reporting the 

performance of the organization to its stakeholders. This is done by the preparation of 

Financial Statements in accordance with Generally Accepted Accounting Principles (GAAP) 

and Accounting Standards. 
 

1.2 Accounting Concepts 

 

Accounting Concepts are assumptions underlying the subject of Financial Accounting which 

is a part of GAAP. Some of the important Accounting Concepts are given below. 

 

a. Business Entity Concept 

This concept separates the individuals behind a business from the business itself, and only 

records transactions in the accounts if it affects the business. 

 

b.   Objectivity Concept 

An accounting statement should not, as far as is possible, be influenced by the personal 

bias of the person preparing it. Thus, figures used in accounting statements should be 

objective. The most objective value that can be placed on an asset is the historical cost 

actually paid for it, which can be proved by an invoice and verified as the market value on 

the date of acquisition. In certain respects, changes in the value of assets need to be 

recognised and at these times, the accountant must make an objective estimate of the new 

value. 
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c. Historical Cost Concept 

This concept means that transactions are recorded at their cost values as evidenced by 

cash flow or agreed liability of the parties. The validity of the concept is undermined in 

times of inflation.   

 

d. Going Concern Concept 

Unless there is good evidence to the contrary, accounting assumes that the business will 

operate for the foreseeable future. 

 

It is also assumed that the business has no intention or necessity to liquidate or curtail the 

scale of its operations. Eg. Holding of Stocks, Credit transactions. 

 

Based on this concept, all resources are usually valued at cost where the departure from 

this concept would require alternate valuating methods. 

 

e. Realisation  Concept 

This concept dictates that we recognise sales revenue as having been earned at the time 

when goods or services have been supplied and an invoice issued; similarly, costs are 

incurred when goods or services have been received, not when they are paid for. 

 

Revenue must not be overstated by a sale which was not realized although a promise or an 

intention to purchase goods may have been expressed. 

 

f. Periodicity Concept 

This concept assumes that financial results (profit/loss) of a company is calculated at pre-

defined accounting periods (annually, half, yearly, quarterly, monthly) and not deferred 

until the termination of the business.  

 

The convention also leads to comparisons being made between one period and another. 

 

g. Accruals and Matching Concepts 

There are two concepts combined here, but they interrelate. They arise from the 

periodicity concept and the need to identify transactions with particular accounting 

periods. 

 

The accruals concept states that expenditure incurred in a particular accounting period 

accounted for in that period, irrespective of whether or not it has been invoiced or paid 

for. Similarly, income that has been earned in that period should be accounted for in that 

period irrespective of the date of invoice or the receipt of monies from the transaction. 

The concept applies equally to all transactions, whether involving revenue, expenses, 

assets or liabilities. If the transaction has occurred during the period, then it should be 

accounted for. 
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The matching concept is similar, but goes one step further, in that it attempts to match the 

income earned in a period with the expenses consumed in earning that income. It may 

happen that expenditure has been incurred in a period, but it has not been used to generate 

income during that same period.  

 

An example of this would be stocks purchased that remain unused at the end of the 

period. They have not been used to generate income in the period of purchase, so they are 

not included as part of the cost of goods sold in that period, on the assumption that they 

will be used to generate income in the future, they are carried forward and matched with 

the income of the future. 

 

This creates a problem, in that the accruals concept states that the expenses should be 

accounted for in that period, but the matching concept states that expense should be 

matched to income. 

 

Generally, a prudent view is taken of expenses. If they have been incurred during the 

period, they are taken into that period’s profit and loss account, even though they may 

have been incurred to provide future income. It is only where they can be reasonably 

identified with future earning potential that they are carried forward to future periods, and 

so most expenses are charged to the profit and loss account for the period in which they 

were incurred. 

 

Similarly, a prudent view must also be taken of income. If monies have been received 

during a period in respect of income that has not yet been earned (e.g the receipt of a 

deposit for a customer’s order that has not yet been fulfilled), this must not be treated as 

income in that period, but carried forward until the order has been satisfied, and matched 

with the relevant expense incurred. 

 

h. Materiality Concept 

Accounting statements are prepared for the benefit of various user groups. It is essential 

that the information provided is both significant and easily understood. The materiality 

concept ensures that the information provided is clear by omitting items that are not 

significant to the user in understanding the overall financial position of the organization.  

 

The distinction between what is significant and what’s not, varies depending on the size 

of the organization, and is a matter of judgement. 

Factors determining materiality 

a. Value (5%) 

b. Nature of the item 

c. Impact on reported results 
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i. Consistency Concept 

Where there are similar items, similar treatment must be given within an accounting 

period and from one period to another. 

 

The usefulness of financial accounting lies to a considerable extent in the conclusions that 

may be drawn from the comparison of the financial statements of one year with those of a 

preceding year, or of one company with another.  

 

Much of the information thus derived would be useless if the choice of accounting 

methods were not applied consistently year by year. If a change in an accounting method 

is required, then comparative information should also be given. An example of an area 

where consistency is important, is the method of valuing stock.  

 

The concept is also applied to the treatment of groups of similar items. For example, the 

same depreciation  method should be used for similar types of fixed assets, and the same 

stock valuation method should be used for similar types of stock. 

 

j. Prudence Concept 

The concept of prudence or conservatism is that a business should not lay claim to any 

profits before they have been earned with reasonable certainty and on the other hand, it 

should anticipate fully the losses that it expects to incur in future periods, that is, losses 

should be written off in full as soon as they are anticipated. Whenever subjective 

judgment is needed, and must be included in the accounts, the figure that gives the lower 

profit should be chosen. This prevents profit being overstated. Similarly, assets should not 

be overstated for balance sheet purposes, but liabilities are generally recognized even 

where their likelihood is only possible, provided that they arise from a past event and 

their value can be estimated with sufficient reliability. 

 

1.3 Information for Decision Making 

 

Any party who is interested in the affairs of an organization may be defined as a 

“Stakeholder”. The main stakeholders of a typical business enterprise would be Shareholders, 

Funding Organisations, Employees, Analysts/ Advisors, Customers and Suppliers, the 

Government, the Public and the Management. Their interests in the organization would be 

numerous and diverse.  

 

The main source of information available to them for decision making purposes would be the 

Annual Report of the organization and more importantly the Financial Statements which are 

contained within the Annual Report. 
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‡ Activity  

 

Identify Stakeholders of a selected business organization and identify their information 

needs 
 

 

1.4 Historical Nature of Financial Information. 

 

As financial accounting is mainly about reporting the financial performance of an 

organization, its output would be of a Historical nature. Also, as per the historical cost 

concept, transactions are recorded in the books at their original value. It has the advantages of 

the concept of objectivity being achieved where the values attached are the actual amounts 

incurred by the organization. Furthermore, these values could be documentarily verified. 

However, the following disadvantages also have to be noted. 

 

a. Asset values may be understated. 

b. Profits are distorted usually under inflationary conditions. 

 

As a result there were various alternatives developed as substitutes to the historical cost basis 

of accounting. These methods were not widely accepted and were too complicated to 

implement in practice. As a result the historical cost system prevails even as at today. 

 

From a marketer’s point of view the question that one would continuously have to ask is 

whether the past is an indication of the future? Based on the answer for this question, one can 

decide the relevance of past performance in making decisions involving the future. In most 

instances, there would be some relevance, and historical information is widely used in 

carrying out trend analysis, setting future targets etc.  

 

Thereby Financial Statements would be of immense use to marketers despite its limitations. 

The marketer would need more information than what is generally contained in traditional 

financial statements. Such information needs are usually met by the provision of relevant 

Management Accounting Information. 

 

‡ Activity  
 

“Financial Statements are utilized by Marketers than Accountants on a daily basis in 

making business decisions.” Select an organization of your choice, and speak to members 

of its Marketing Team and Finance Team and comment on the above assertion. 
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1.5 Publishing Financial Reports 

 

As you may already know, the owners of a limited liability company obtain ownership by 

investing in the share capital of such an organization. However the management of a limited 

liability company is carried out by a team called the Board of Directors who are appointed by 

the shareholders. This means that the Board of Directors are accountable for the shareholders 

and that they must act in the best interests of the organization and not pursue their personal 

interests.  

 

This accountability is exercised by the preparation of financial statements which are usually 

audited by an independent auditor who is appointed by the shareholders. This is referred to as 

an External Audit where the auditor expresses his opinion on the financial statements by way 

of a Report which is addressed to the shareholders. Now we have to focus on the mechanism 

through which the financial statements, audit report etc are communicated to the shareholders 

and other interested parties. 

 

a) What is an Annual Report ? 

 

This is a document which is prepared by a limited liability company which communicates the 

said company’s performance over the last financial year to its shareholders and other 

interested parties who are usually referred to as stakeholders 

 

Features of an Annual Report 

 

a) Report of the Board of Directors 

b) Report of the Chairman 

c) Financial Statements 

d) Auditors’ Report 

e) Statements of value addition 

f) Details of dividends and market capitalization 

g) Environmental activities and Projects of Social Responsibility undertaken 

during the year 

h) Details regarding Corporate Governance 

 

2.  Meaning and Purpose of Financial Statements 

 

Financial statements form part of the process of financial reporting. A complete set of 

financial statements normally includes a balance sheet, an income statement (profit and loss 

account), a cash flow statement and notes and other statements and explanatory material that 

are an integral part of the financial statements.  
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They may also include supplementary schedules and information based on or derived from, 

and expected to be read with, such statements. Such schedules and supplementary 

information may deal, for example, with financial information about industrial and 

geographical segments and disclosures about the effect of changing prices. Financial 

Statements do not, however, include such items as reports by directors, statements by the 

chairman, discussion and analysis by the management and similar items that may be included 

in an Annual Report. 

 

The objective of financial statements is to provide information about the financial position, 

performance and changes in financial position of an enterprise, that is useful to a wide range 

of users in making economic decisions.  

 

Financial statements prepared for this purpose meet the common needs of most users. 

However, financial statements do not provide all the information that users will need to make 

economic decisions since they largely portray financial effects of past events and do not 

necessarily provide non-financial information. 

 

Financial statements also show the results of the stewardship of management, or the 

accountability of management for the resources entrusted to it. Those users who wish to 

assess the stewardship or accountability of the management do so in order that they make 

economic decisions: these decisions may include, for example, whether to hold or sell their 

investment in the enterprise or whether to re-appoint or replace the Board of Directors.  

 

3. Different Types of Financial Statements – an Introduction 
 

As mentioned above, financial statements mainly include a balance sheet, profit and loss 

account, a cash flow statement and explanatory notes. 

 

3.1 Balance Sheet 
 

This is a statement which presents the assets and liabilities held by an enterprise as at any 

given date. This would give out the financial position of the organization as at the point of 

preparation. Infact this is like a snapshot of the organization at a particular point. Usually the 

annual report would contain a balance sheet as at the last day of the financial year. 

Commonly used headings in a balance sheet are as follows. 

 

• Property, Plant and Equipment 

• Intangible Assets 

• Inventories 

• Trade Debtors 

• Cash and Bank Balances 
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• Trade Creditors and other payables 

• Taxation liability 

• Provisions 

• Long term Loans 

• Share Capital 

• Reserves 

 

3.2 Profit and Loss Account 

 

This is a statement which presents the financial performance of the organization for the past 

financial year. This would include the income earned and expenses incurred during the given 

period. Commonly used headings would include 

 

• Revenue 

• Cost of Goods Sold 

• Operating Profit 

• Finance Costs 

• Profit before Taxation 

• Taxation for the year 

• Profit after Tax 

• Results of exceptional items 

• Dividends 

• Retained Profit for the Period 

 

3.3 Cash Flow Statement 

 

This is a statement which presents the movement of cash flows of the organization in the past 

financial year. A cash flow statement when used in conjunction with the other financial 

statements would be useful in assessing the ability of the organization to generate cash and 

cash equivalents and enables users to develop models to assess and compare the present value 

of the future cash flows of different enterprises.  

 

It also enhances the comparability of the reporting of operating performance, by different 

enterprises because it eliminates the effects of using different accounting treatment for similar 

transactions or events. Commonly used headings would include 

 

• Cash flows from Operating Activities 

• Cash flows for Investing Activities 

• Cash flows from Financing Activities 
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Examples  

 

The following financial statements are obtained from a leading quoted public company in Sri 

Lanka for the year 2004. You are required to familiarize yourselves with the financial 

statements based on the initial learnings of the financial statements 

 

ABC Company Limited 

Income Statement (P&L) 
For the year ended 31st March 2004 

 

   2004  2003 

   Rs. ' 000s  Rs. ' 000s 

       

Gross Turnover  12,257,563  10,778,823 

       

Net Turnover  4,197,813  3,564,480 

       

Cost of sales          (2,604,462)        (2,397,819) 

       

Gross profit  1,593,351  1,166,661 

       
Gain on Disposal of Shares  885,183  6,897 

       

Other Operating Income  52,092  37,353 

       

Distribution Cost  
            (99,609) 

           (112,148) 

Administrative Expenses  
          (197,401) 

           (201,277) 

Other operating Expenses  
          (113,968) 

           (184,939) 

   
 
    

Profit from Operations  2,119,648  712,547 

       

Net Financing income/(Cost )            (180,987)  218,155 

       

Profit Before taxation  1,938,661  930,702 

       

Income Tax Expense            (313,034)           (321,790) 

       

Profit for the Year  1,625,627  608,912 

       

       

Earnings per Share of Rs. 1/-  5.42  2.03 

       

Dividend Per Share of Rs. 1/-  0.50  0.45 
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ABC Company Limited 

Balance sheet  
As at 31st March 2004 

 

  2004  2003 

  Rs. ' 000s  Rs. ' 000s 

ASSETS     

Non- current Assets     

Property, Plant & Equipment 539,913  474,623 

Investment in Subsidiaries 5,627,414  482,867 

Investment in jointly controlled entity 20,000  20,000 

Investments in Associates 548,904  877,678 

Other long Term Investments 858,125  1,033,199 

  7,594,356  2,888,367 

      

Current Assets     

Short term Investments -  - 

Inventories 916,030  791,373 

Trade & Other receivables 738,579  432,604 

Amounts due from Subsidiaries 26,429  10,079 

Short term Deposits 25,258  1,450,308 

Bank & Cash balances 269,445  144,088 

  1,975,741  2,828,452 

Total Assets 9,570,097  5,716,819 

      

EQUITY & LIABILITIES     

Capital & Reserves     

Share capital 300,000  300,000 

Capital Reserves 107,882  107,882 

Revenue Reserves 4,263,844  2,773,217 

  4,671,726  3,181,099 

      

Non- Current Liabilities     

Deferred Taxation 28,037  32,821 

Retirement Benefit Obligations 64,500  69,000 

  92,537  101,821 

      

Current Liabilities     

Trade & Other payables 1,621,347  1,404,468 

Amount due to related Companies 2,030  - 

Income tax payable 142,413  100,557 

Interest Bearing Loans & Borrowings 3,026,119  915,850 

Dividend Payable 13,925  13,024 

  4,805,834  2,433,899 

Total Equity & Liabilities 9,570,097  5,716,819 
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ABC Company Limited 

Cash flow statement 
For the year ended 31st March 2004 

 

  2004  2003 

  Rs. ' 000s  Rs. ' 000s 

Profit from Operations 2,119,648  712,547 

      

Adjustments for :     

Depreciation on Property, Plant & Equipment 49,015  49,503 

Provision for Gratuity 2,609  10,579 

Gain on Disposal of Property, Plant & Equipment             (1,150)           (5,647) 

Gain on Disposal of Shares          (885,183)           (6,897) 

Provision for fall in value of Investments 113,968  184,939 

Reversal of provision for fall in value of Investments           (38,983)  - 

Operating Profit before working Capital Changes 1,359,924  945,024 

(Increase)/ Decrease in Inventories          (124,657)         (47,563) 

(Increase)/ decrease in Receivables          (322,325)  
      

(122,529) 

Increase /( Decrease ) in Payables 218,909  
      

(202,587) 

  1,131,851  572,345 

Interest paid          (262,374)           (1,138) 

Income Tax paid          (275,962)  
      

(327,340) 

Retiring Gratuities paid             (7,109)           (9,079) 

Net Cash flow from Operating activities 586,406  234,788 

      

Cash flow from Investing activities     

Acquisition of Subsidiary       (5,258,515)  - 

Acquisition of Property, Plant & Equipment          (118,205)         (88,008) 

Sale of shares- Associate 1,213,957  - 

Purchase of Shares & Other Investments -  
      

(325,658) 

Dividends received 33,711  69,454 

Dividends received from Associate 37,425  33,518 

Proceeds on Disposal of Property, Plant & Equipment 5,050  5,647 

Proceeds on Disposal of Shares & Other Investments 214,057  16,222 

Interest received 10,251  116,321 

        (3,862,269)  
      

(172,504) 

      

Cash flow from Financing Activities     

Dividends paid          (134,099)  
      

(140,582) 

           (134,099)  
      

(140,582) 

      

Cash & Cash Equivalents     

At the beginning of the year  678,546  756,844 

Net movement during the year        (3,409,962)         (78,298) 

At the end of the year (note A)       (2,731,416)         678,546  
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Note A     

Short term deposits 25,258  1,450,308 

Cash in Transit 80,810  78,113 

Cash in hand & Bank 188,635  65,975 

Bank & Other Borrowings       (3,026,119)  
      

(915,850) 

        (2,731,416)         678,546  
 

 

 

♪  My Short Notes  
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Chapter 9 
Reading the P&L Account, Balance Sheet, Cash 
Flow Statement 
 

This chapter will cover the following areas 

1. Reading the Profit & Loss Account and Balance Sheet 
2. Reading the Cash Flow Statement 
 

 
1. Reading Profit & Loss Accounts and Balance Sheets 
 
1.1 The Format of the Profit and Loss Account 
 

XYZ LTD 
Profit and Loss Account for the year ended  xx/xx/xxxx 

 Rs.000's Rs.000's 

Turnover  xxxxxxxx 

Less: Cost of sales   

   Opening Stock Xxxxx  

   Purchases Xxxxx  

   Less: Closing Stock (xxx) (xxxxx) 

Gross Profit  xxxxx 

Add: Operating Income xxxx  

Less: Operating Expenses (xxx) xxx 

Operating Profit  xxxxxx 

Less: Interest Expenses  (xxx) 

Profit Before Taxation  xxxxx 

Less: Taxation  (xx) 

Profit After Taxation  xxxxx 

Less: Dividends  (xx) 

Retained Profit for the year  xxxxx 

Retained Profit brought forward  xxx 

Retained Profit carried forward xxxxxx 
                    
 
 
 


























































































































































































































